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TNPSC GROUP I test batch – 2020 
TEST XXVIII – PREMODEL III 

DEVELOPMENT ADMINISTRATION IN TAMILNADU, INDIAN POLITY, INDIAN ECONOMY, 
APTITUDE AND MENTAL ABILITY  

 
1. Find correctly matched pairs. 

1. Bharat Heavy Electrical Limited – Tiruchirapalli 
2. Integrated coach factory – Perambalur 
3. Steel Authority of India Limited – Salem 
4. Heavy Vehicle Factory – Chengalpattu 
a. 1 and 3 only  b. 2 and 4 only  c. All the above  d. None of the above 
rhpahf nghUe;jpAs;s ,iziaj; Njh;T nra;f 
1. ghuj; fduf kpd;rhu ypkpnll; - jpUr;rpuhg;gs;sp 
2. xUq;fpize;j ,uapy;ngl;b njhopw;rhiy – nguk;gY}h;  
3. ,e;jpa v/F cUf;F epWtdk; - Nryk; 
4. fduf thfdj; njhopw;rhiy – nrq;fy;gl;L 
a. 1 & 3 kl;Lk;  b. 2 & 4 kl;Lk;  c. Nkw;fz;l midj;Jk; d. vJTkpy;iy 

 
2. The region that specialized in fine engineering products of electric wet grinder and electric motor is 

a. Salem  b. Madurai  c. Chennai  d. Coimbatore 
kpd;rhu khT miug;ghd; kw;Wk; kpd;rhu Nkhl;lhhpd; rpwe;j nghwpapay; jahhpg;Gfspy; epGzj;Jtk; ngw;w 
gFjp _______ 
a. Nryk;  b. kJiu  c. nrd;id  d. Nfhak;Gj;J}h; 

 
3. Match region with corresponding industries. 

A. Automobile  1. Vellore 
B. Leather    2. Coimbatore 
C. Power loom  3.  Chennai 
D. Cotton Knitwear  4. Karur 
E. Home Furnishing  5. Tiruppur 
 A B C D E 
a. 1 2 3 4 5 
b. 3 1 4 2 5 
c. 3 1 2 4 5 
d. 3 1 2 5 4  
njhlh;Gila njhopy;fSld; mjd; gFjpfis nghUj;Jf 
A. Ml;Nlhnkhigy;   1. NtY}h;  
B. Njhy;   2. Nfhak;Gj;J}h; 
C. tpirj;jwp   3. nrd;id 
D. gUj;jp gpd;dyhil  4. f&h; 
E. tPLfSf;fhd nghUl;fs; 5. jpUg;g+h; 
 A B C D E 
a. 1 2 3 4 5 
b. 3 1 4 2 5 
c. 3 1 2 4 5 
d. 3 1 2 5 4  
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4. Choose the correct statements regarding industrialization in Tamilnadu. 
1. Industries were concentrated in eastern part of state 
2. The entrepreneurs came from dispersed social background. 
3. The state has better mix of large, small and household industries. 
a. 1 and 2 only  b. 2 and 3 only   c. 1 and 3 only  d. All the above 
jkpo;ehl;bd; njhopy;kakhf;fy; Fwpj;j rhpahd $w;Wfis fz;lwpf 
1. njhopw;rhiyfs; khepyj;jpd; fpof;F gFjpapy; Ftpe;Js;sd 
2. njhopy;KidNthh; gpd;jq r%f gpd;dzpapy; ,Ue;J te;jth;fs; 
3. nghpa> rpW kw;Wk; tPl;L njhopy;fs; vd fyitia muR nfhz;Ls;sJ 
a. 1 kw;Wk; 2 kl;Lk; b. 2 kw;Wk; 3 kl;Lk;  c. 1 kw;Wk; 3 kl;Lk; d. ,it midj;Jk; 

 

5. Find correctly matched ELCOSEZS and their districts 
1. Sriperumbadur  - Chennai 
2. Ilandhaikulam  - Madurai 
3. Vilankurichi  - Coimbatore 
4. Gangaikondan  - Tanjore 
a. 1 and 3 only  b. 2 and 3 only  c. 2 and 4 only  d. All the above 
rhpahf nghUe;jpAs;s ELCOSEZS kw;Wk; khtl;lq;fis fhz;f 
1. =ngUk;GJ}h;  - nrd;id 
2. ,ye;ijFsk; - kJiu 
3. tpyhq;Fwpr;rp - Nfhak;Gj;J}h; 
4. fq;if nfhz;lhd; - jQ;rht+h; 
a. 1> 3 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk;  c. 2 kw;Wk; 4 kl;Lk; d. midj;Jk; 

 
6. Match agencies that promote industrialization in state with their year of formation. 

A. SIPCOT  1. 1949 
B. TANSIDCO  2. 1965 
C. TIDCO  3. 1965 
D. TIIC  4. 1970 
E. TANSI  5. 1971 
 A B C D E 
a. 1 2 3 4 5 
b. 5 4 3 2 1 
c. 5 4 3 1 2 
d. 1 2 4 3 5 
njhopy;kakhf;fis Cf;Ftpf;Fk; Kfik kw;Wk; mtw;iw cUthf;fpa Mz;ilg; nghUj;Jf 
A. SIPCOT  1. 1949 
B. TANSIDCO  2. 1965 
C. TIDCO  3. 1965 
D. TIIC  4. 1970 
E. TANSI  5. 1971 
 A B C D E 
a. 1 2 3 4 5 
b. 5 4 3 2 1 
c. 5 4 3 1 2 
d. 1 2 4 3 5 

 
7. Where is Indian ordnance factory located? 

a. Avadi  b. Perambur  c. Naguneri  d. Aravankadu 
,e;jpahtpd; Jg;ghf;fp njhopw;rhiy vq;F mike;Js;sJ? 
a. Mtb  b. nguk;g+h;  c. ehq;FNdhp d. mutq;fhL 

 

8. Consider statements and choose correct answer. 
I. Kerala is only state to have a sex ratio above 1000 
II. Tamilnadu is the most urbanized (48.4%) state in India. 
a. I only b. II only c. Both I and II  d. None of above 
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gpd;tUk; $w;Wfspy; rhpahd $w;Wfis fz;lwpf 

I. 1000f;F Nky; ghypd tpfpjj;ijf; nfhz;l xNu khepyk; Nfush kl;LNk 
II. ,e;jpahtpy; cs;s khepyq;fspy; jkpofk; kpfTk; efukakhf;fg;gl;Ls;sJ (48.4%) 
a. I kl;Lk;  b. II kl;Lk;  c. I kw;Wk; II  d. ,uz;Lkpy;iy 

 
9. Consider following statements and choose correct answer. 

1. Tamilnadu is 2nd in GDP. 
2. It is the most economically Free State in country. 
3. It is highest in Per capita income. 
a. 1 only b. 1 and 2 only   c. 2 and 3 only   d. 1 and 3 only 
rhpahd $w;Wfis fhz;f 
1. GDP-apy; jkpo;ehL ,uz;lhk; ,lk; tfpf;fpwJ 
2. ,J ehl;bd; nghUshjhu hPjpahf kpfTk; Rje;jpu khepykhFk; 
3. ,J mjpf jdpegh; tUkhdk; nfhz;l khepykhFk; 
a. 1 kl;Lk; b. 1 kw;Wk; 2 kl;Lk;  c. 2 kw;Wk; 3 kl;Lk;  d. 1 kw;Wk; 3 kl;Lk; 

 
10. Rank of Tamilnadu among Indian states in Human Development Index is as of 2015 

a. one   b. two   c. three  d. five 
,e;jpa khepyq;fspy;> kdpjts Nkk;ghl;L FwpaPl;by; jkpo;ehl;bd; epiy vd;d (2015Mk; Mz;L)? 
a. xd;W  b. ,uz;L  c. %d;W  d. Ie;J 

 
11. Consider the statements and choose correct answer 

Assertion (A): In 1923, first May Day celebration was organized in Chennai.  
Reason (R): M. Singaravelar had deep faith in communism and labour rights 
a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): 1923,y; Kjy; Kjyhf Nk jpd tpoh nrd;idapy; eilngw;wJ 
fhuzk; (R): M. rpq;fhuNtyh; fk;a+dprk; kw;Wk; njhopyhsh; chpikapy; Mo;e;j ek;gpf;if nfhz;bUe;jhh; 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 

 
12. Who said “world will prosper in knowledge and intellect if both men and women are deemed equal”? 

a. Bharathiyar  b. E.V.R. Periyar c. Subash Chandra Bose d. Dr.B.R.Ambedkar 
“Mz;fSk; ngz;fSk; rkkhff; fUjg;gl;lhy; cyfk; mwptpYk; Mw;wypYk; tsUk;” vd;W $wpath;? 
a. ghujpahh;  b. <.Nt.uh.nghpahh; c. Rgh~; re;jpu Ngh];  d. Dr.gp.Mh;.mk;Ngj;fh; 
 

13. What was communal representation decree introduced in Madras Legislative Assembly in 1921 
a. Non- Brahmins should be allowed to hold political office 
b. Separate electorate for Non-Brahmins 
c. Employment opportunity to be provided to Non-Brahmins 
d. Separate electorate to religious minorities 
1921-y; nkl;uh]; rl;lkd;wj;jpd; tFg;Gthj gpujpepjpj;Jt Miz vd;gJ 
a. gpuhkzuy;yhjth;fs; murpay; gjtptfpf;f mDkjpf;f Ntz;Lk;. 
b. gpuhkzuy;yhjth;fSf;F jdpj;njhFjp  
c. gpuhkzuy;yhjth;fSf;F Ntiy tha;g;ig Vw;gLj;jpjUjy;. 
d. rka rpWghd;ikapdUf;F jdpj;njhFjp 

 

14. Non-Brahmin Manifesto was issued by  
a.  C. Natesan  b. Pitty Theyagarayar   c. T.M.Nair  d. Raja of Panagal 
gpuhkzh; my;yhNjhh; mwpf;if ahuhy; ntspaplg;gl;lJ? 
a. rp.eNlrd;  b. gpl;b jpahfuhah;  c. b.vk;.ehah;  d. gdfy; murh; 
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15. Consider statement about E.V.R Periyar correct statement are, 
I. He was against child marriage, Devadasi system. 
II. He emphasised women’s right to divorce 
III. He worked to ensure women’s right to property. 
IV. He favoured equal rights in guardianship and adoption. 
V. He said motherhood was a burden to women. 
a. I, II, III and IV only  b. I, II and III only c. I, II, III and V only d.  All the above 
<.Nt.uh nghpahh; Fwpj;j rhpahd thf;fpaq;fis Njh;T nra;f. 

I. ,th; Foe;ijj;jpUkzk;> Njtjhrp Kiwf;F vjpuhf nray;gl;lhh;. 

II. tpthfuj;J nra;tjw;fhd ngz;fspd; chpikia typAWj;jpdhh;. 
III. ngz;fspd; nrhj;Jhpikia cWjpg;gLj;j mth; gzpahw;wpdhh;.  

IV. mth; ghJfhtyh;fshf ,Uj;jy; kw;Wk; jj;njLg;gpy; rk chpikfis tpUk;gpdhh;. 

V. jha;ik vd;gJ ngz;fSf;F Rik vd;whh;. 
a. I, II, III kw;Wk; IV kl;Lk; b. I, II kw;Wk; III kl;Lk;  
c. I, II, III kw;Wk; V kl;Lk; d.  Nkw;fz;l midj;Jk; 

 
16. Consider following statement about Retaimalai Srinivasan 

i. He was popularly called ‘Thatha’ 
ii. He worked for welfare of depressed classes 
iii. He was a close associate of Gandhiji in South Africa 
iv. He established Adi Dravida Mahajana Sabha in 1893 
v. He was not a signatory to poona pact as he demanded separate electorate. 
a. i, iii and v only   b. i, ii and iv only 
c. i, ii, iii and iv only   d. All the above 
,ul;ilkiy rPdpthrd; Fwpj;j $w;Wfis ftdpf;fTk;. 
i. “jhj;jh” vdg; gutshf mwpag;gl;lhu;. 
ii. xLf;fg;gl;l kf;fspd; eyDf;fhf Nghuhbdhh; 
iii. mth; njd;dhg;gphpf;fhtpy; fhe;jp[pAld; neUq;fpa $l;lhspahf ,Ue;jhh;. 
iv. mth; 1893y; Mjp jpuhtpl kfh[d rigia Njhw;Wtpj;jhh; 
v. ,th; jdpj; njhFjpia Nfhhpajhy; G+dh xg;ge;jj;jpy; ifnaOj;jpltpy;iy 
a. i, iii, v kl;Lk;    b. i, ii & iv kl;Lk; 
c. i, ii, iii & iv kl;Lk;   d. Nkw;fz;l midj;Jk; 

 
17. Who published newspaper ‘Thozhilalan’ 

a. Thiru.V. Kalyanasundaranar b. Jeeva c. Singaravelar  d. V.O. Chidambaram Pillai 
“njhopyhsd;” vDk; gj;jphpf;ifia ntspapl;lth; ahh;? 
a. jpU.tp.fypahzRe;juh; b. [Pth  c. rpq;fhuNtyd; d. t.c. rpjk;guk; gps;is 

 
18. Match the following indicators for Tamil Nadu. 

A. IMR     1. 17 
B. MMR    2. 72.7 
C. Female literacy rate  3. 73.86 
D. Female life expectancy  4. 79 
 A B C D 
a. 1 2 3 4 
b. 1 4 3 2 
c.  2 1 3 4 
d. 4 1 3 2 
jkpo;ehl;bw;fhd FwpaPLfisg; nghUj;Jf. 
A. IMR     1. 17 
B. MMR    2. 72.7 
C. ngz;fs; vOj;jwpT tpfpjk; 3. 73. 86 
D. ngz;fs; tho;ehs; vjph;ghh;g;G 4. 79 
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 A B C D 
a. 1 2 3 4 
b. 1 4 3 2 
c.  2 1 3 4 
d. 4 1 3 2 

 

19. Consider the following statements and choose correct answer? 
1. There are 23 minor ports in Tamil Nadu. 
2. Chennai is a natural harbor and second principal port in handling containers. 
a. 1 only b.  2only  c. Both 1 and 2  d. None of the above 
gpd;tUtdtw;Ws; rhpahdtw;iw Njh;T nra;f. 
1. jkpo;ehl;by; nkhj;jk; 23 rpwpa JiwKfq;fs; cs;sJ. 
2. nrd;id xU ,aw;if JiwKfk;> kw;Wk; nfhs;fyd;fisf; ifahs;tjpy; ,uz;lhtJ nghpa 

JiwKfkhFk;. 
a. 1 kl;Lk; b. 2 kl;Lk;  c. 1 & 2 ,uz;Lk;  d. vJTkpy;iy 

 

20. In health index, Tamil Nadu is ahead of  
a. Kerala  b. Punjab  c. Gujarat  d. All the above 
Rfhjhu FwpaPl;by; jkpo;ehL ____ Kd;dpiyapy; cs;sJ. 
a. Nfush  b. gQ;rhg;  c. F[uhj;   d. midj;Jk; 

 
21. When was Madras renamed as Tamilnadu? 

a. January 1, 1968 b. January 14, 1969 c. November 14, 1969  d. November 1, 1969 
kjuh]; khfhzk; vg;NghJ jkpo;ehL vd;W ngah;khw;wk; nra;ag;gl;lJ? 
a. [dthp 1> 1968 b. [dthp 14> 1969 c. etk;gh; 14> 1969  d. etk;gh; 1> 1969 

 

22. Area of Tamilnadu is 
a. 32,87,263 sq km b. 8,21,816 sq km c. 1,30,058 sq km d. 7,50,123 sq km 
jkpofj;jpd; gug;gsT 
a. 32,87,263 sq km b. 8,21,816 sq km c. 1,30,058 sq km d. 7,50,123 sq km 

 

23. Match the following  
A. Javadhu hills 1. Salem 
B. Kolli hills  2. Villupuram 
C. Kalvarayan  3. Vellore 
D. Servarayan   4. Namakkal 
 A B C D 
a. 1 2 3 4 
b.  4 3 2 1 
c. 3 4 2 1 
d. 2 1 3 4 
nghUj;Jf 
A. [t;thJ kiy 1. Nryk; 
B. nfhy;yp kiy 2. tpOg;Guk; 
C. fy;tuhad;  3. NtY}h; 
D. Nrh;tuhad;  4. ehkf;fy; 
 A B C D 
a. 1 2 3 4 
b.  4 3 2 1 
c. 3 4 2 1 
d. 2 1 3 4 

 

24. Arrange the following hills from West to East 
1. Nilgiri  2. Pazhamalai 3. Servarayan 4. Kalvarayan 
a. 1-2-3-4  b. 4-3-2-1  c. 1-3-2-4  d. 2-1-3-4 
gpd;tUk; kiyfis Nkw;fpypUe;J fpof;fhf thpirg;gLj;Jf 
1. ePyfphp  2. gokiy  3. Nrh;tuhad;  4. fy;tuhad; 
a. 1-2-3-4  b. 4-3-2-1  c. 1-3-2-4  d. 2-1-3-4 
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25. Arrange islands of Tamilnadu from west to east 
1. Nallathanni  2. Upputhanni  3. Appa 4. Pamban  5. Vaan 
a. 5-4-3-2-1  b. 5-3-2-1-4  c. 5-2-1-3-4  d. 5-1-2-3-4 
gpd;tUk; jPTfis Nkw;fpypUe;J fpof;fhf thpirg;gLj;Jf 
1. ey;y jz;zp jPT 2. cg;G jz;zp jPT 3. mg;gh jPT 4. ghk;gd; jPT  5. thd; jPT 
a. 5-4-3-2-1  b. 5-3-2-1-4  c. 5-2-1-3-4  d. 5-1-2-3-4 

 
26. Match the following 

A. Coorg, Karnataka  1. Thamiraparani 
B. Kolar, Karnataka  2. Cauvery 
C. Nandi Durga Hills  3. Palar 
D. Pothigai Hills  4. Thenpennaiyar 
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 3 4 1 2 
d. 4 1 2 3 
nghUj;Jf 
A. $h;f;> fh;ehlfk;  1. jhkpuguzp 
B. Nfhyhh;> fh;ehlfk;  2. fhtphp 
C. ee;jp Jh;fh kiy  3. ghyhW 
D. nghjpif kiy  4. njd;ngz;izahW 
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 3 4 1 2 
d. 4 1 2 3 

 
27. Match the following 

A. Stanley reservoir  1. Kollidam 
B. Sathanur Dam  2. Cauvery 
C. Ramnad Big Tank  3. Vaigai 
D. Veeranam   4. Thenpennaiyar 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 4 3 1 
d. 1 3 4 2 
nghUj;Jf 
A. ];lhd;yp ePh;j;Njf;fk; 1. nfhs;splk; 
B. rhj;jD}h; miz  2. fhtphp 
C. ,uhkehjGuk; nghpa Vhp 3. itif 
D. tPuhzk;   4. njd;ngz;izahW  
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 4 3 1 
d. 1 3 4 2 

 
28. Match the following 

A. Thamiraparani  1. Vellore 
B. Palar   2. Madurai 
C. Vaigai   3. Tirunelveli 
D. Thenpennaiyar  4. Kancheepuram 
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 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 1 4 3 
d. 3 4 2 1 

 nghUj;Jf 
 A. jhkpuguzp   1. NtY}h; 
 B. ghyhW   2. kJiu 
 C. itif   3. jpUney;Ntyp 
 D. njd;ngz;izahW  4. fhQ;rpGuk; 
  A B C D 

a. 1 2 3 4 
b. 4 3 2 1 
c. 2 1 4 3 
d. 3 4 2 1 

 
29. Match the following 

Waterfalls   District 
A. Tirumurthy   1. Theni 
B. Hogenakal   2. Nilgiri 
C. Pykara   3. Dharmapuri 
D. Suruli   4. Tiruppur 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 3 4 1 
d. 3 2 1 4 
nghUj;Jf 
mUtpfs;   khtl;lk; 
A. jpU%h;j;jp   1. Njdp 
B. xNfdf;fy;   2. ePyfphp 
C. igf;fhuh   3. jh;kGhp 
D. RUsp   4. jpUg;g+h; 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 3 4 1 
d. 3 2 1 4 

 
30. Lattitudinal extent of Tamilnadu is 

a. 8°5'N to 13°35'N   b. 8°5'S to 13°35'S  
c. 8°0'N to 13°5'N   d. 8°0'S to 13°5'S 
jkpo;ehl;bd; ml;rg;guty; _______ Kjy; ______ tiu cs;sJ 
a. 8°5' t Kjy; 13°35' t tiu  b. 8°5' nj Kjy; 13°35' nj tiu  
c. 8°0' t Kjy; 13°5' t tiu  d. 8°0' nj Kjy; 13°5' nj tiu 

 
31. District in Tamilnadu with maximum forest cover 

a. Erode  b. Nilgiri c. Dharmapuri   d. Coimbatore 
jkpo;ehl;by; gug;gstpd;gb mjpf fhLfis nfhz;l khtl;lk; vJ? 
a. <NuhL  b. ePyfphp c. jh;kGhp   d. Nfhak;Gj;J}h; 

 
32. Amma call centre has a toll free number of ________ for public to submit grievance 

a. 1098  b. 121  c. 1100  d. 1248 
nghJ kf;fs; Fiwfis njhptpf;f> mk;kh miog;G ikak; toq;fpAs;s fl;lzkpy;yh vz; vJ? 
a. 1098  b. 121  c. 1100  d. 1248 
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33. Namadhu arasu is platform to _______ 
a. Provide unique number to each resident  
b. Single window for business clearance 
c. Online dissemination of information regarding governance 
d. Wifi, internet fascility provision in rural areas 
ekJ muR vd;gJ 

a. xt;nthU FbapUg;Gf;Fk; jdpg;gl;l vz;iz toq;Fjy;  

b. tzpf mDkjpf;fhd xw;iw top 

c. MSif njhlh;ghd jfty;fis ,izaj;jpy; ntspapLjy; 

d. fpuhkg;Gw gFjpfspy; it – ig> ,iza trjpfis Vw;gLj;Jjy; 
 
34. UNESCO Award for restoration of work without altering architecture was given to 

a. Meenakshi Sundareswarar Temple, Madurai 
b. Srirangam Arulmigu Aranganatha Swamy Temple 
c. Airawatesvara Temple, Dharasuram 
d. Kailasanatha Temple, Kanchipuram 
fl;blf;fiyia khw;whky; Gzuikg;G gzpfis Nkw;nfhz;likf;fhf And];Nfh tpUjpid 
__________ ngw;wJ 

a. kPdhl;rp Re;jNu];th; Nfhapy;> kJiu 

b. =uq;fk; mUs;kpF muq;fehj Rthkp Nfhapy; 

c. IuhtjP];tuh; Nfhapy;> jhuhRuk; 

d. ifyhrehjh; Nfhapy;> fhQ;rpGuk; 
 
35. Match the following  

Type of Agriculture    Area Practised 
A. Subsistence Intensive Agriculture  1. Banks of River Cauvery 
B. Plantation agriculture   2. Hill slopes of western ghats 
C. Mixed farming    3. All over Tamilnadu 
 A B C  
a. 1 2 3 
b. 3 2 1 
c. 2 1 3 
d. 1 3 2 
nghUj;Jf 
Ntshz; tif     gaphplg;gLk; gFjpfs; 
A. jPtpu tptrhak;     1. fhtphp Mw;Wg; gFjpfs; 
B. Njhl;l Ntshz;ik   2. Nkw;F njhlh;r;rp kiy rhpTfs; 
C. fyg;G tptrhak;    3. jkpo;ehL KOtJk; 
 A B C  
a. 1 2 3 
b. 3 2 1 
c. 2 1 3 
d. 1 3 2 

 
36. Match the following 

A. Chithiraipattam i. paddy  1. April to September 
B. Adipattam  ii. fruit   2. November to March 
C. Navarai  iii. cotton  3. July to February 

A  B  C  
a. i, 1  ii, 2  iii, 3 
b. i, 2  ii, 3  iii, 1 
c. iii, 3  ii, 1  i, 2 
d. iii, 1  i, 3  ii, 2 
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nghUj;Jf 
A. rpj;jpiugl;lk; i. ney;  1. Vg;uy; Kjy; nrg;lk;gh; tiu 
B. Mbg;gl;lk;  ii. gok;  2. etk;gh; Kjy; khh;r; tiu 
C. etiu   iii. gUj;jp 3. [{iy Kjy; gpg;uthp tiu 

A  B  C  
a. i, 1  ii, 2  iii, 3 
b. i, 2  ii, 3  iii, 1 
c. iii, 3  ii, 1  i, 2 
d. iii, 1  i, 3  ii, 2 

 

37. Arrange following dams based on their location from south to north 
1. Papanasam  2. Mullai Periyar 3. Bhavani Sagar 4. Kothaiyar 5. Amarawathi 
a. 1-2-3-4-5  b. 4-3-2-1-5  c. 4-1-2-5-3  d. 5-4-3-2-1 
gpd;tUk; mizfis njw;fpy; ,Ue;J tlf;fhf mjd; ,l miktpd;gb thpirg;gLj;Jf 
1. ghgehrk;  2. Ky;iyg;nghpahW 3. gthdp rhfh;  4. NfhijahW  5. mkuhthjp 
a. 1-2-3-4-5  b. 4-3-2-1-5  c. 4-1-2-5-3  d. 5-4-3-2-1 

 
38. Longest National Highway in Tamilnadu is NH44 goes from _______ to _________ 

a. Tiruvannamalai to Kallakuruchi  b. Hosur to Kanyakumari 
c. Kanyakumari to Salem   d. Madurai to Natham 
jkpofj;jpd; ePskhd Njrpa neLq;rhiyahd NH44 _______ Kjy; _______ tiu mike;Js;sJ 

a. jpUtz;zhkiy Kjy; fs;sf;Fwpr;rp tiu  

b. X#h; Kjy; fd;dpahFkhp tiu 

c. fd;dpahFkhp Kjy; Nryk; tiu 

d. kJiu Kjy; ej;jk; tiu 
 

39. Match the following 
A. Toda  1. Agricultural community 
B. Irula   2. Collect snake venom 
C. Badagas  3. Settlement – ‘Munds’ 
D. Kurumbas  4. Food gatherers 
E. Paliyan  5. Magic and witch craft 
 A B C D E 
a. 1 2 3 4 5 
b. 5 4 3 2 1 
c. 3 2 1 5 4 
d. 2 4 1 3 5 
nghUj;Jf 
A. Njhlh;fs;  1. Ntshz; r%fk; 
B. ,Ush;fs;  2. ghk;G tp~ Nrfhpg;ghsh;fs; 
C. gLfh;fs;  3. Kz;l;]; 
D. FUk;gh;fs;  4. czT Nrfhpg;ghsh;fs; 
E. ghypahd;  5. khatpj;ij kw;Wk; ke;jpuq;fs; 
 A B C D E 
a. 1 2 3 4 5 
b. 5 4 3 2 1 
c. 3 2 1 5 4 
d. 2 4 1 3 5 

 

40. NH-785 is shortest national highway in Tamilnadu from ______ to ______ 
a. Dharmapuri, Salem   b. Madurai, Natham 
c. Ramanathapuram, Danushkodi d. Madurai, Tirunelveli 
jkpo;ehl;bd; kpff;Fiwe;j ePsk; nfhz;l Njrpa neLQ;rhiyahdJ ________ Kjy; ___________ tiu 
mike;Js;sJ  
a. jh;kGhp> Nryk;   b. kJiu> ej;jk; 
c. ,uhkehjGuk;> jD~;Nfhb  d. kJiu> jpUney;Ntyp 
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41. Consider statements and choose correct option. 
I. B.N. Rao was appointed as advisor to constituent assembly. 
II. 64 lakhs was spent to frame constitution. 
III. Constitution making was spread over period of 2 year, 11 month and 18 days. 
IV. Original constitution are preserved in Helium cases in library of Parliament of India. 
V. Original constitution had 395 articles in 22 parts and 8 schedules. 
a. I only  b. I, II and III only c. I and II only  d. All the above 
fPo;f;nfhLf;;fg;gl;l tptuq;fspy; cz;ikahd jfty;fis fz;lwpe;J Fwpg;gplTk;.  
I. B.N. uht; rl;lkd;w MNyhrfuhf epaf;fg;gl;Ls;shh;. 
II. murpay; eph;zar;rl;k; cUthf;f 64 yl;rk; nrythdJ 
III. murpay; eph;zr; rl;lk; cUthf;f vLj;Jf; nfhz;lfhyk; 2 tUlk; 11 khjk; 18 ehs;  
IV. %yg;gpujp (murpay; mikg;Gr; rl;lk;) P̀ypak; ngl;bapy; itj;J> ehlhSkd;w E}yfj;jpy; 

ghJfhf;fg;gLfpwJ. 
V. %yg; gpujpapy; murpay; eph;zar; rl;lj;jpy; 395 gphpT 22 gFjpfs; 8 ml;ltizfs; ,Ue;jd.  
a. I kl;Lk;  b. I, II kw;Wk; III c. I kw;Wk; II  d. midj;jk; rhp  

 
42. Match the following with correct options 

A. Gram Sabha   1. Municipal Commissioner 
B. Panchayat Union   2. Executive officer 
C. Town Panchayat   3. Block development officer 
D. City Municipal Corporation 4. Permanent body 
 A B C D 
a. 4 2 3 1 
b. 4 3 2 1 
c. 2 3 4 1 
d. 3 2 4 1 
nghUj;Jf: 
A. fpuhk rig    1. Kdprpgy; Mizah;  
B. gQ;rhaj;J A+dpad;   2. nray; mjpfhhp  
C. efu gQ;rhaj;J    3. gpshf; tsh;r;rp (tl;lhu mjpfhhp) 
D. efu Kdprpgy; fhh;g;gNu~d; 4. epue;ju mikg;G  
 A B C D 
a. 4 2 3 1 
b. 4 3 2 1 
c. 2 3 4 1 
d. 3 2 4 1 

 
43. What are the Criteria to be recognised as a regional Party? 

a. 6% votes in legislative assembly election 
b. win one (out of 25 seats) in Loksabha or 2 seats in legislative assembly. 
c. minimum 3% of total seats in assembly 
d. All the above 
xU gpuhe;jpa fl;rpahf mq;fPfhuk; ngw vd;ndd;d Kfhe;jpuq;fs; Njit?  
a. rl;l Nguitj; Njh;jypy; 6% thf;Ffs; ngw;wpUf;f Ntz;Lk;.  
b. rl;lrigapy; xU ,lKk; (25y;) rl;lg; Nguitapy; 2 ,lq;fSk; ntw;wp ngw;wpUf;f Ntz;Lk;. 
c. rl;lg; Nguitapy; nkhj;j ,lq;fspy; Fiwe;jgl;rk; 3 cWg;gpdh; ,Uf;f Ntz;Lk;  
d. midj;Jk; rhpahdit 

 
44. What is minimum required strength of MLAs to form a government in Tamil Nadu. 

a. 234  b. 235  c. 118  d. 120 
jkpo;ehl;by; Ml;rp mikf;f Fiwe;j gl;rk; Njitg;gLk; rl;l kd;w cWg;gpdh;fspd; vz;zpf;if ahJ?  
a. 234  b. 235  c. 118  d. 120 

 

45. State Legislative Assembly Participates in election of  
i. President   ii. Vice President 
iii. Rajyasabha member iv. Members of state legislative council of state 
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a. i, ii and iii are correct b. i and iii are correct 
c. i, iii and iv are correct d. all the above are correct 
khepy rl;lrig cWg;gpdh;fs; ve;jj; Njh;jypy; gq;F tfpg;ghh;fs;? 
i. FbauRj; jiyth;  ii. Jizf; FbauRj; jiyth;  
iii. ehlhSkd;w cWg;gpdh;  iv. khepy rl;lkd;w Nkyit cWg;gpdh;  
a. i, ii kw;Wk; iii rhp  b. i kw;Wk; iii rhp 
c. i, iii kw;Wk; iv rhp   d. Nkw;fz;l midj;Jk; rhp 

 

46. Which of the following are correctly matched pair? 
I. Maintenance and welfare of Parents and Senior citizen Act – 2007 
II. Right to education Act – 2010 
III. Right to information Act – 2004 
IV. Protection of Children from sexual offences Act – 2012 
a. I and IV only  b. II and III only 
c. None of the above  d. All the above 
gpd;tUdtw;Ws; rhpahfg; nghUe;jpAs;s ,iz vJ? 
I. %j;j Fbkf;fs; kw;Wk; ngw;Nwhh; eyd;fs; guhkhpg;Gr; rl;lk; - 2007 
II. fy;tp chpikr; rl;lk; - 2010 
III. jfty; chpikr; rl;lk; - 2004 
IV. ghypay; Fw;wq;fspypUe;J Foe;ijfisg; ghJfhf;Fk; rl;lk; - 2012 
a. I kw;Wk; IV kl;Lk;  b. II kw;Wk; III kl;Lk;  
c. Nkw;fz;l vJTkpy;iy  d. Nkw;fz;l midj;Jk;  

 

47. Consider reservation of public employment in Tamil Nadu 
1. State Provides 51% reservation to SC/ST, MBC/DNC & BC 
2. 30% to BC, 20% to MBC/DNC, 18% to SC and 1% to ST  
3. 30% is reserved for women. 
4. 4% for differently abled. 
5. 20% for person studied in Tamil medium. 
6. Transgender are included in Backward class. 
Correct statements are 
a. 2, 3, 4, 5 and 6 b. 2, 3, 4 and 5   c. 1, 2, 3, 4 and 5 d. All  
jkpo;ehl;bYs;s muR gzpf;fhd ,l xJf;fPl;bidf; fUJf.  
1. SC/ST, MBC / DNC & BC f;F 51% ,lxJf;fPl;bid khepy muR toq;FfpwJ.  
2. BC f;F 30%, MBC / DNL f;F 20%, SC f;F 18% kw;Wk; ST f;F 1%  
3. ngz;fSf;fhd ,l xJf;fPL 30% MFk;  
4. khw;Wj;jpwdhspfSf;F 4% xJf;fPlhFk;  
5. jkpo; topapy; gbj;jth;fSf;F 20% xJf;fPlhFk;  
6. jpUeq;iffs; gpw;gLj;jg;gl;Nlhh; tFg;gpy; ,izf;fg;gl;Ls;sdh; 
rhpahd $w;Wfshtd:  
a. 2, 3, 4, 5 kw;Wk; 6 b. 2, 3, 4 kw;Wk; 5  c. 1, 2, 3, 4 kw;Wk; 5 d. midj;Jk;  

 

48. Consider Articles under 73rd constitutional Amendment Act 1992. 
A. Article 243 A  1. Gram Sabha 
B. Article 243 D  2. Reservation of seats 
C. Article 243 I  3. State Finance Commission 
D. Article 243 K  4. State Election Commission 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 2 4 3 
d. 2 1 3 4 
73tJ murpayikg;Gj; jpUj;jr; rl;lk; 1992-d; ruj;Jfisf; fUJf.  
A. rl;lf;$W 243 A  1. fpuhk rig 
B. rl;lf;$W 243 D  2. ,l xJf;fPl;L Kiw  
C. rl;lf;$W 243 I  3. khepy epjpf;FO  
D. rl;lf;$W 243 K  4. khepy Njh;jy; Mizak;  
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 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 2 4 3 
d. 2 1 3 4 

 

49. Consider the following  
I. Periyar E.V. Ramasamy became chairman of Erode Municipality in 1918-19 
II. Piped water supply implemented in 1919 was first of kind in history of Indian Municipal 

Administration 
a. I is correct  b. II is correct  c. Both statements are correct  d. None of these 
gpd;tUk; $w;Wfis Ma;f 
I. 1918-19y; nghpahh; <.nt.uhkrhkp <NuhL efuhl;rpapd; jiytuhdhh;.  
II. ,e;jpa efuhl;rp eph;thf tuyhw;wpy; 1919-y; Kjy;Kiwahf Foha; %yk; FbePh; tpepNahfk; 

mwpKfkhdJ  
a. $w;W I rhp  b. $w;W II rhp  c. ,uz;Lk; rhp   d. vJTk; rhpay;y  

 

50. Consider the following statement and choose correct option. 
Assertion (A) : India has a rigid constitution  
Reasoning (R) : Article 368 provides for amendment by special majority and some provision can be 
amended by simple majority 
a. Both A and R are true and R is correct explanation. 
b. Both A and R are true and R is not explanation. 
c. A is true R is false 
d. A is false R is true 
gpd;tUk; $w;Wfspy; rhpahdijj; Njh;e;njL: 
$w;W (A)  : ,e;jpah nefpoh murpayikg;igf; nfhz;Ls;sJ 
fhuzk; (R): ruj;J 368 MdJ jpUj;jq;fSf;fhd rpwg;G ngUk;ghd;ik  
(k) rpy tiffisj; jpUj;Jk; vspa ngUk;ghd;ik eilKiwfisf; Fwpg;gpLfpwJ.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ rhpahd tpsf;fkhFk;  
b. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ rhpahd tpsf;fky;y  
c. (A) rhp (R) jtwhdJ 
d. (A) jtW> (R) rhpahdJ  

 

51. Match the following with correct options.  
A Chairman of drafting committee   1. H.C. Mukkerjee  
B. President of constituent assembly   2. Prem Behari Narain Raizada  
C. Vice-president of assembly   3. Dr. B.R. Ambedkar  
D. Calligrapher     4. Dr. Rajendra Prasad  
      5. Patel 
 A B C D 
a. 5 3 4 2 
b. 3 4 5 1  
c. 3 5 4 1  
d. 3 4 1 2  
nghUj;Jf: 
A. tiuTf; fkpl;bapd; jiyth;    1. H.C. Kfh;[p 
B. murpay; mikg;G mitj; jiyth;   2. gpNuk; ng`hp eNud; iu[lh  
C. mitapd; Jizj; jiyth;    3. Dr. B.R. mk;Ngj;fhh;  
D. tbtikg;ghsh; (murpayikg;G rl;lj;ij vOjpath;)  4. Dr. uhN[e;jpu gpurhj;  
        5. gl;Nly; 
 A B C D 
a. 5 3 4 2 
b. 3 4 5 1  
c. 3 5 4 1  
d. 3 5 4 2  
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52. The citizenship Act 1955 prescribes ways of losing citizenship. 
I. By termination if an Indian voluntarily acquires citizenship of another country.  
II. By deprivation if ordinarily resident outside India for 7 years continuously.  
Correct statement is/are. 
a. I only  b. II only   c. Both I and II  d. None of the above  
FbAhpikr; rl;lk; 1955> FbAhpik ,og;G gw;wpa rl;l G+h;tkhd jfty;fisf; nfhz;Ls;sJ. mjd;gb  
I. xU ,e;jpad;> kw;w ehl;L> FbAhpikia Ntz;bg; ngWk;NghJ> ,e;jpaf; FbAhpik ePf;fg;gLfpwJ.  
II. ,e;jpahTf;F ntspNa> njhlh;e;J 7 Mz;Lfs; tho;e;jhy;> ,e;jpaf; FbAhpik ePf;fg;gLk;. 
a. I kl;Lk; b. II kl;Lk;  c. I kw;Wk; II  d. VJkpy;iy  

 
53. Match following with correct options.  

 Provision     Source  
A. Liberty equality    1. USSR  
B. Fundamental rights   2. France  
C. Directive principles   3. USA 
D. Fundamental duties   4. Canada  
     5. Ireland  
 A B C D 
a. 1 3 5 4  
b. 2 3 5 1  
c. 2 3 5 4  
d. 2 3 4 1 
nghUj;Jf:  
 fUj;J    %yhjhuk; / ehL  
A. rkj;Jt Rje;jpuk;   1. USSR 
B. mbg;gil chpikfs;  2. gpuhd;];  
C. topfhl;Lk; / gpd;gw;w  
   Ntz;ba fl;lisfs;  3. (USA) mnkhpf;f If;fpa ehL  
D. mbg;gilf; flikfs;  4. fdlh 
     5. mah;yhe;J  
 A B C D 
a. 1 3 5 4  
b. 2 3 5 1  
c. 2 3 5 4  
d. 2 3 4 1 

 
54. Match following with correct options  

 Schedule   Subject Matter  
A. Seventh   1. Division of powers between union & states  
B. eighth   2. Disqualification due to defection  
C. Ninth  3. Protecting laws violating fundamental rights from Judicial scrutiny  
D. Tenth   4. 22 official languages  
 A B C D 
a. 1 4 3 2 
b. 4 1 3 2  
c. 1 4 2 3  
d. 4 1 3 2  
nghUj;Jf:  
ml;ltiz vz;   nghUslf;fk;  
A. VohtJ  1. A+dpad; & khepyq;fSf;fhd mjpfhug;gphpT 
B. vl;L   2. fl;rpjhTtjhy; Vw;gLk; jFjp ePf;fk;  
C. xd;gJ   3. ePjpkd;w Gzuha;tpypUe;J rl;lq;fSf;fhd tpsf;fk; 
D. gj;J   4. muR nkhop  
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  A B C D 
a. 1 4 3 2 
b. 4 1 3 2  
c. 1 4 2 3  
d. 4 1 3 2  

 

55. Which of following are true regarding functions of prime minister?  
I. Distributes and allocates portfolio among ministers  
II. Political head of services  
III. Link between President and council of Ministers  
IV. Chief spokesperson of country 
V. Represent country at in international conference  
VI. Appoints Indian Indian diplomats to other countries  
a. I, II, III, IV and VI only b. I, II, III and VI only 
C. All of these    d. I, II,, III, IV and V only  
fPo;tUtdtw;Ws; gpujkhpd; nray;ghLfshff; fUjg;gLgit vit vdf; Fwpg;gplTk; 
I. mikr;rh;fSf;F ,yhf;fh gphpj;J mspj;jy;  
II. gzpahsh; Jiwapd; murpay; jiyth; 
III. FbauRj;jiyth; kw;Wk; mikr;ruit ,ilNa ghyk;Nghy; nray;gLfpwhh; 
IV. ehl;bd; rhh;gpy; thjhLk; chpikngw;w Kjy; gpuKfh;  
V. gd;dhl;L khehLfspy; ekJ ehl;bd; gpujpepjpahf nray;gLjy; 
VI. may;ehLfSf;fhd ,e;jpa J}jh;fis epakpj;jy;  
a. I, II, III, IV & VI b. I, II,III & IV  c. I, II & IV  d. I, II, III, IV & V  

 
56. Consider following statements. 

I. Supreme court at Delhi was inaugurated on January 28, 1950 
II. System of integrated Judiciary was followed from Government of India Act 1935 which 

established Federal court in 1937 
Correct statements are  
a. I only  b. II only   c. Both I and II  d. None of above  
fPo;f;nfhLf;fg;gl;ltw;Ws; rhpahd tpiliaj; Njh;e;njLj;J vOJ.  
I. by;ypapy; cr;rePjpkd;wk; [dthp 28> 1950y; Jtq;fg;gl;lJ. 
II. xUq;fpize;j ePjpj;Jiw> ,e;jpa muRr; rl;lk; 1935 gb eilKiwg;gLj;jg;gl;lJ. mJ 1937y; 

ngluy; epjp kd;wj;jpy; cWjpg;gLj;jg;gl;lJ.  
a. I kl;Lk;  b. II kl;Lk;   c. I kw;Wk; II   d. midj;Jk; jtwhdit  

  
57. Arrange the Following Presidents in chronological order  

1. Sarvapalli Radhakrishnan   2. V.V. Giri  3. Fakruddin Ali Ahmed    
4. Neelam Sanjeev Reddy   5. K R Narayanan  
a. 2, 1, 3, 4, 5   b. 1, 2, 3, 4, 5   c. 1, 3, 4, 2, 5  d. 1, 3, 4, 5, 2 
FbauRj;jiyth;fspd; ngah;fis fhythpirg;gLj;Jf.  
1. rh;tg;gs;sp uhjhfpU~;zd; 2. V.V. fphp   3. gf;UjPd; myp m`kj; 
4. ePyk; rQ;rPtnul;b  5. K.R ehuhazd;  
a. 2, 1, 3, 4, 5   b. 1, 2, 3, 4, 5   c. 1, 3, 4, 2, 5  d. 1, 3, 4, 5, 2 

 
58. Which of following is not discretionary power of Governor?  

a. Article 201 – Reserve Bill for consideration of president  
b. Article 356 – Recommend imposition of president's rule in state  
c. Article 167 – seeks information from chief minister relating to administrative and legislative matters 

of state.  
d. Article 213 – power of Governor to promulgate ordinance  
fPo;tUtdtw;Ws; vJ MSehpd; mjpfhu tuk;Gf;Fs; tuhJ?  
a. rl;l$W 201 – kNrhjhtpid FbauRj;jiytUf;F xJf;fPL nra;jy; 
b. rl;l$W 356 – khepyj;jpy; FbauRj;jiyth; Ml;rpia ghpe;Jiu nra;tJ 
c. rl;l$W 167 – rl;lk; kw;Wk; eph;thfk; njhlh;ghd jfty;fis Kjy; mikr;rhplk; Nfl;Lg;ngWjy;  
d. rl;l$W 213 – mtru rl;lj;ij mky;gLj;Jk; mjpfhuk;  
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59. High court does not enjoy following Jurisdiction  
a. Appellate Jurisdiction   b. Supervisory Jurisdiction  
c. Advisory Jurisdiction   d. writ Jurisdiction  
fPo;f;fz;ltw;Ws; cah;ePjp kd;w rl;l tuk;Gf;Fs; tuhjit vit?  
a. Nky;KiwaPL  b. fz;fhzpg;G  c. MNyhrid  d. ePjpg;Nguhiz  

 

60. Distributive Justice means  
a. Division of Justice among parties in conflict  
b. unequal distribution to ensure equality  
c. Unequals are treated equally in situation  
d. distribution to ensure equality of outcome of results  
gq;fPl;L ePjp vd;gJ>  
a. Nkhjypy; cs;s fl;rpfspilNa ePjp gq;fPL  
b. rkj;Jtkhd r%fj;ij epiyepWj;Jtjw;F> rkkw;w gq;fPL. 
c. #o;epiyfspy; rkkw;wth;fis> rkkhdth;fshf elj;Jjy;  
d. KbTfspd; tpisTfspd; rkj;Jtj;ij cWjp nra;tjw;fhd gq;fPL. 

 

61. Which among the following is/are correct? 
1. Tamilar Thagavalatruppadai – Documentation of Archaeological and Historical Sites 
2. Tamil Perungalanjiyam – Tamil Mega Encyclopedia Project 
3. Tamil Net – Promotion of Tamil Language and Literature 
a. 1 only  b. 1, 2 only  c. 2, 3 only  d. All the above 
gpd;tUtdtw;Ws; vJ / vit rhp? 
1. jkpoh; jftyhw;Wg;gil – njhy;ypay; kw;Wk; tuyhw;W Ma;Tfis Mtzg;gLj;Jjy; 
2. jkpo; ngUq;fsQ;rpak; - jkpo; ngUk; fiyfsQ;rpa jpl;lk; 
3. jkpo; nel; - jkpo; nkhop kw;Wk; ,yf;fpaj;ij Nkk;gLj;Jjy; 
a. 1 kl;Lk;  b. 1> 2 kl;Lk;  c. 2> 3 kl;Lk;  d. ,it midj;Jk; 
 

62. Which of following is not guaranteed under right to property under Article 300 (A)? 
a. Protects private property against arbitrary executive action.  
b. Can directly approach high court under (Article 226) in case of violation).  
c. Guaranteed right to compensation in case of acquisition by state  
d. Right to property is made a legal right  
nrhj;Jhpikf;fhd ruj;J 300 (A) – apy; $wg;glhjJ?  
a. jd;dpr;irahd eph;thf eltbf;iff;F vjpuhf jdpahh; nrhj;Jf;fs; ghJfhg;G  
b. chpik kPwypd;NghJ ruj;J 226-d; fPo; cah;ePjpkd;wj;ij Neubahf mZfyhk;.  
c. murpdhy; nrhj;J ifafgLj;jg;gLk;NghJ mjw;fhd ,og;gPl;L chpik cj;jputhjkspf;fg;gl;Ls;sJ.  
d. nrhj;JhpikahdJ> rl;l chpikahf khw;wg;gl;Ls;sJ.  

 

63. Match following with correct options.  
A. Usage of EVM     1. 1989  
B. Reduction of Voting age from 21 to 18   2. 1991  
C. Structural Adjustment programme   3. 2004  
 A B C  
a. 1 2 3  
b. 3 1 2  
c. 2 3 1  
d. 3 2 1  
nghUj;Jf: 
A. kpd;dZ thf;FgjpT ,ae;jpuk; gad;ghL  1. 1989  
B. thf;fspf;Fk; taJ 21ypUe;J 18 Mf Fiwg;G  2. 1991  
C. fl;likg;G> rPuikg;G> jpl;lkply;   3. 2004  
 A B C  
a. 1 2 3  
b. 3 1 2  
c. 2 3 1  
d. 3 2 1  
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64. Who said "Dictatorship naturally arises out of democracy and most aggravated form of tyranny and 
slavery out of most extreme liberty? 
a. Socrates   b. plato   c. Aristotle   d. Diophantus  
"rh;thjpfhuk; ,aw;ifahfNt kf;fshl;rpapypUe;J cUthfpwJ kw;Wk; kpf Nkhrkhd mbikKiw> 
nfhLq;Nfhd;ik Kiw kpfTk; jPtpukhd Rje;jpuj;jpypUe;J cUthfpwJ" vdf; $wpath;?  
a. rhf;uB];  b. gpshl;Nlh  c. mhp];lhl;by; d. ilahghd;l;l];  

 
65. Simplest form of plurality / majority electoral system is. 

a. FPTP  b. block vote   c. Party block vote  d. Limited vote system  
Njh;jypy; gd;ikj;Jtk; / ngUk;ghd;ik Kiwapd; vspikahd tbtk; vd;gJ 
a. Kjypy; epiyiaf; fle;J nry;Yjy; (FPTP) b. njhFjp thf;F (BV) 
c. fl;rpj; njhFjp thf;F (PBV)   d. tiuaWf;fg;gl;l thf;F Kiw 

 
66. State funding of elections was backed by 

a. Indrajith Gupta committee   b. Tarkunde committee 
c. Vohra committee   d. Tanka committee 
murpd; epjpAjtpAldhd Njh;jy;fis Mjhpj;j FO 
a. ,e;jpu[pj; Fg;jh FO b. jh;Fz;Nl FO c. Nthuh FO  d. lq;fh FO 

 
67. Minimum quota of votes required by a person to secure Rajya Sabha seat is  

a. 1
1

Total candidates

TotalVotes

 
+ 

+ 

   b. 1
1

Total votes polled

Total condidates tobeelected

 
+ 

+ 
 

c. 1
1

Total condidates tobeelected

Total votes polled

 
+ 

+ 
  d. 

1
1

Total votes polled

Total condidates tobeelected

 +
+ 

 
 

khepyq;fsitapy; cWg;gpduhtjw;F xUth; ngwNtz;ba Fiwe;jgl;r thf;Ffs; vd;gJ 

a. 1
1

 
+ 

+ 

nkhj; j Ntl; ghsh; fs;

nkhj; j thf; Ffs; 
   

b. 1
1

 
+ 

+ 

gjpthd nkhj; j thf; Ffs; 

Njh; e; njLf; fg; gl Ntz;ba nkhj; j Ntl; ghsh; fs; 
 

c. 1
1

 
+ 

+ 

Njh; e; njLf; fg; gl Ntz;ba nkhj; j Ntl; ghsh; fs;  

gjpthd nkhj; j thf; Ffs;
 

d. 
1

1
 +

+ 
 

gjpthd nkhj; j thf; Ffs;  

Njh; e; njLf; fg; gl Ntz;ba nkhj; j Ntl; ghsh; fs; 
 

 
68. Find out the Articles dealing with local government 

a. Article 3A, Article 43A   
b. Article 300, Article 300 A. Article 243 to 243 ZG 
c. Article 40, Article 243 to 243O, Article 243P to 243ZG 
d. Article 31, Article 117 (1), Article 49  
murpayikg;gpy; Cs;shl;rp murhq;fj;Jld; njhlh;Gila rl;lf;$Wfs; ahit?  
a. rl;lf;$W 3A, rl;lf;$W 43A 
b. rl;lf;$W 300> rl;lf;$W 43A 
c. rl;lf;$W 40> rl;lf;$W 243 – 243O, rl;lf;$W 243P – 243ZG  
d. rl;lf;$W 31> rl;lf;$W 117(1), rl;lf;$W 49. 

 
69. Which is not a recommendation made by Lord Ripon under resolution of 1882? 

a. Presence of majority of nonofficial  
b. creation of rural boards, tahsil and district boards 
c. nominated members to be 1/3rd  of total strength 
d. Municipal commissioner nominated by government  
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hpg;gd; gpuGtpd; jPh;khdk; 1882-d; gb ghpe;Jiu nra;ag;glhjJ vJ?  
a. mYty; rhuh cWg;gpdh;fspd; ngUk;ghd;ik ,Uj;jy;  
b. Cuf thhpaq;fs;> jhrpy;fs; (k) khtl;l thhpaq;fis cUthf;Fjy;  
c. nkhj;j vz;zpf;ifapy; 1/3 gq;F epakd cWg;gpdh;fshf ,Uj;jy;  
d. murhq;fk; efuhl;rp Mizaiu epakpj;jy;  

 

70. The community-based reservation order issued in all departments of madras presidency in 1892 is 
called  
a. 125 (2)  b. 126 (2)  c. 128 (2)  d. 127 (2) 
1892-y; nrd;id khfhzj;jpy; gpwg;gpf;fg;gl;l midj;J JiwfSf;Fkhd tFg;Gthhp ,lxJf;fPl;L 
MizahdJ miof;fg;gLtJ 
a. 125 (2)  b. 126 (2)  c. 128 (2)  d. 127 (2) 

 

71. Match the following  
A. Kaka kalelkar commission    1. 1951 
B. First amendment      2. 1979 
C. Second backward class commission   3. 1953 
D. Indra sawhney vs Union of India case  4. 1993  
 A B C D  
a. 3 2 1 4  
b. 3 2 4 1  
c. 1 3 2 4 
d. 3 1 2 4 
nghUj;Jf:   
A. fhfh fNyy;fh; Mizak;    1. 1951 
B. Kjy; rl;lj;jpUj;jk;    2. 1979 
C. ,uz;lhtJ gpw;gLj;jg;gl;Nlhh; Mizak;  3. 1953 
D. ,e;jpuh r`hdp vjph; ,e;jpa A+dpad; tof;F  4. 1993 
 A B C D  
a. 3 2 1 4  
b. 3 2 4 1  
c. 1 3 2 4 
d. 3 1 2 4 

 

72. Match the following  
A. This will not prevent any appointment  
or reservation among BC if sufficient Representation    
is not provided      1. Article 340  
B. Advancement of educationally Backward class or   
     SC or ST       2. Article 29 (2) 
C. No citizen shall be denied admission into  
Educational institution receiving Funds from state  3. Article 16 (4) 
D. Backward class commission     4. Article 15 (4) 
 A B C D 
a. 3 4 2 1 
b. 4 3 2 1 
c. 3 2 4 1   
d. 1 2 3 4  
nghUj;Jf:  
A. Nghjpa gpujpepjpj;Jtk; ngwhj gpw;gLj;jg;gl;l tFg;gpdUf;fhd  
gzpepakdq;fspy; ,l xJf;fPL toq;f ,t;tpjp jilahf ,Uf;fhJ 1. rl;lf;$W 340  
B. fy;tpapy; gpw;gLj;jg;gl;l tFg;gpdh; (m) gl;bay; 
   rhjp (k) goq;Fbapdiu Kd;Ndw;Wjy;     2. rl;lf;$W 29(2)  
C. murpd; epjpAjtp ngWk; fy;tp epWtq;fspy;  
  ve;jnthU FbkfDf;Fk; mDkjp kWf;fg;glhJ    3. rl;lf;$W (16(4)  
D. gpw;gLj;jg;gl;l tFg;gpdh; Mizak;      4. rl;lf;$W 15(4)  
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 A B C D 
a. 3 4 2 1 
b. 4 3 2 1 
c. 3 2 4 1   
d. 1 2 3 4  
 

73. Match following with correct options 
A. Hindi made official Language    1. 1857 
B. State reorganization     2. 1938 
C. President of Justice Party – Periyar  3. 1965 
D. Madras University     4. 1956  
 A B C D  
a. 3 4 2 1  
b. 4 3 2 1  
c. 3 4 1 2 
d. 1 3 2 4  
nghUj;Jf: 
A. ,e;jp mYtyf nkhopahdJ   1. 1857 
B. khepy kWrPuikg;G     2. 1938 
C. nghpahh; ePjpf;fl;rpapd; jiytuhdJ  3. 1965 
D. nkl;uh]; gy;fiyf;fofk;    4. 1956 
 A B C D  
a. 3 4 2 1  
b. 4 3 2 1  
c. 3 4 1 2 
d. 1 3 2 4  

 
74. The first Madras legislative Assembly session was held on? 

a. 13 May 1952  b. 3 May 1952  c. 13 May 1951  d. 3 May 1951 
nkl;uh]; rl;lkd;wj;jpy; Kjy; $l;lj;njhlh; vg;NghJ eilngw;wJ? 
a.1952 Nk 13  b. 1952 Nk 3  c. 1951 Nk 13  d. 1951 Nk 3 

 
75. Which Article puts governor as the part of state legislature conferring legislative powers to him? 

a. Art. 156  b. Art. 158  c. Art. 166  d. Art. 168 
MSeh; khepyr; rl;lkd;wj;jpd; xU gFjp Mthh;.  vdNt> mth; rl;l mjpfhuq;fis nfhz;Ls;shh; 
vd;gij Fwpg;gpLk; rl;lf;$W vJ? 
a. rl;lf;$W 156 b. rl;lf;$W 158 c. rl;lf;$W 166 d. rl;lf;$W 168 

 

76. Which is established to provide advice to the concerned governments concerned for the regulations of 
an Inter-State river or river valley? 
a. River Board  b. Water dispute Tribunal c. River Council d. Zonal council 
khepyq;fSf;fpilNaahd ejpfis Nkyhz;ik nra;tjw;F khepyq;fSf;F ghpe;Jiufs; toq;Ftjw;F 
Vw;gLj;jg;gl;l mikg;G vJ? 
a. ejp Mizak; b. ejpePh; jPh;g;ghak;  c. ejp FO  d. kz;lyf; FO 

 

77. Which Article provides the removal and suspension of member of a public service commission? 
a. Art. 316  b. Art. 317  c. Art. 319  d. Art. 320 
Njh;thiza cWg;gpdh; ePf;fk; kw;Wk; ,ilePf;fk; Fwpj;j murikg;G cWg;G vJ? 
a. cWg;G 316  b. cWg;G 317  c. cWg;G  319  d. cWg;G 320 

 

78. Which of the following is/are correctly matched pairs? 
i. Primary factors    - land and labour 
ii. Derived factors    - capital and land 
iii. Fourth factor of production   - Entrepreneurship and organization 
a. i, ii  b. ii, iii  c. i, iii  d. all the above 
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gpd;tUtdtw;Ws; rupahfg; nghUe;jpa ,izfs; vit? 

i. Kjd;ik cw;gj;jpf; fhuzpfs; - epyk; kw;Wk; ciog;G 

ii. ngwg;gl;l cw;gj;jpf; fhuzpfs; - %yjdk; kw;Wk; epyk; 
iii. ehd;fhtJ cw;gj;jpf; fhuzp  - njhopy; KidNthu; kw;Wk; mikg;G 
a. i, ii  b. ii, iii  c. i, iii  d. Nkw;$wpa midj;Jk; 

 
79. Which of the following is the work of Adamsmith? 

i. The theory of Moral Sentiments (1759). 
ii. An inquiry into the nature and causes of the wealth of nations (1776). 
iii. Principles of Economics. 
a. i, ii, iii  b. i, iii  c. i, ii  d. ii, iii 
gpd;tUtdtw;Ws; Mlk;];kpj;jpd; gilg;Gfs; vit? 

i. ed;ndwp fUj;J czu;Tf; nfhs;if (1759) 

ii. ehLfspd; nry;tKk;> mtw;iw cUthf;Ffpd;w fhuzpfSk; Xu; Ma;T (1776). 

iii. nghUshjhuf; nfhs;iffs;. 
a. i, ii, iii  b. i, iii  c. i, ii  d. ii, iii 

 
80. Characteristics of capital. 

i. Capital is the dispensable factor of production. 
ii. Capital has the highest mobility. 
iii. Capital is productive 
a. i, ii, iii  b. i, ii  c. ii, iii   d. i, iii 
%yjdj;jpd; ,ay;Gfs; vit? 

i. ,J cw;gj;jpapy; jtpu;f;f Kbahj fhuzp 

ii. mjpfk; ,aq;Fk; jd;ikAilaJ. 
iii. %yjdk; Mf;fKilaJ. 
a. i, ii, iii  b. i, ii  c. ii, iii   d. i, iii 

 
81. Which of the following items are exempted from GST? 

i. Petroleum products.  ii. Alcoholic drinks 
iii. Electricity    iv. Vegetables and food grains 
a. i, ii, iii  b. i, iii  c. i, ii, iv  d. all the above 
GST -d; fPo; tuhjit vit? 
i. ngl;Nuhypag; nghUl;fs;  ii. My;f`hy; 
iii. kpd;rhuk;    iv. fha;fwp kw;Wk; czT jhdpaq;fs;. 
a. i, ii, iii  b. i, iii  c. i, ii, iv  d. midj;Jk; 

 
82. Consider the following statements. 

I. Shershah Suri issued a silver coin of 178 gms known as Rupiya. 
II. The British gold coins were termed as Angelina. 
a. I, II are correct b. I is correct  c. II is correct  d. I, II are incorrect 
gpd;tUk; $w;Wfis Muha;f. 

I. n~u;~h #up 178 fpuhk; vilAs;s &gpah vd;w nts;sp ehzaq;fis ntspapl;lhu;. 

II. Mq;fpNyau;fs; jq;f ehzaq;fis VQ;rypdh vd;Wk; mioj;jdu;. 
a. I, II rup  b. I kl;Lk; rup  c. II kl;Lk; rup   d. I, II jtW 

 
83. Consider the following statements. 

i. The agglomerations of small firms are called Industrial clusters. 
ii. The notion of an “Industrial district” was developed by J.S.Mill 
a. I, II are correct b. I is correct  c. II is correct  d. I, II are incorrect 
gpd;tUk; $w;Wfis Muha;f. 

i. rpwpa epWtdq;fspd; njhFg;GfNs “njhopy;Jiw njhFg;Gfs;” vd;W miof;fg;gfpd;wd. 

ii. “njhopy;Jiw khtl;lk;” vd;gij gpugykhf;fpatu; J.S.kpy;. 
a. I, II rup  b. I rup   c. II rup   d. I, II jtW 
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84. The standup India scheme was launched on 
a. 16 January 2016 b. 5 April 2015   c. 18 April 2016 d. 5 April 2016 
];lhz;l; mg; ,e;jpah jpl;lk; njhlq;fg;gl;l ehs; 
a. 16 [dtup 2016 b. 5 Vg;uy; 2015  c. 18 Vg;uy; 2016 d. 5 Vg;uy; 2016 

 
85. Which of the following is/are the primary objectives of the industrial policy of 1991? 

i. To promote major industries from the clutches of bureaucrats. 
ii. To abolish restrictions on Foreign Direct Investment. 
iii. To achieve international competitiveness. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii 
gpd;tUtdtw;Ws; njhopw;nfhs;if 1991-d; Kjd;ik Nehf;fq;fs; vit? 

i. mjpfhuj;jpd; gpbapy; ,Uf;Fk; gy njhopy;fis Kd;Ndw;WtJ. 
ii. ntspehl;L Neub KjyPLfspy; cs;s fl;Lg;ghLfis xopg;gJ. 

iii. ru;tNjr Nghl;bfis vjpu;nfhs;tJ 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii 

 
86. In 1965, Asia’s first export processing zone (Epz) setup in 

a. Mumbai  b. Kantla  c. Vishakapatnam  d. Paradip 
1965-Mk; Mz;L Mrpahtpd; Kjy; Vw;Wkjp nrayhf;f kz;lyk; Jtq;fg;gl;l ,lk;. 
a. Kk;ig  b. fhz;l;yh  c. tprhfg;gl;ldk;  d. ghujPg; 

 
87. Identify the items not to be included in the income method of measuring National income? 

i. Transfer payments 
ii. Balance of payments 
iii. Windfall gains 
iv. The receipts from the sale of second hand goods. 
a. i, iii, iv  b. i, ii, iv  c. i, ii, iii  d. all the above 
tUkhdKiwapyhd Njrpa tUthapy; fzf;fpy; vLj;Jf;nfhs;shtw;iw milahsk; fhz;f. 

i. khw;Wr; nrYj;Jiffs; 
ii. nrYj;J epiyf;fzf;F 

iii. tPo;r;rp Mjhaq;fs; 
iv. ,uz;lhk; Kiw tpw;fg;gl;l nghUl;fspd; gzkjpg;G. 
a. i, iii, iv  b. i, ii, iv  c. i, ii, iii  d. Nkw;$wpa midj;Jk; 

 
88. Which of the following statement is/are incorrect? 

i. The currency notes are also called as legal tenders. 
ii. M1 and M2 money are known as broad money. 
iii. M3 and M4 money are known as narrow money. 
a. i and ii  b. ii and iii  c. ii only  d. iii only 
gpd;tUtdtw;Ws; jtwhdf; $w;wpidj; Nju;e;njL. 

i. fhfpjg;gzq;fs; mjpfhuk; ngw;w rl;lG+u;tkhd nryhtzp. 
ii. M1 kw;Wk; M2 gzk; gue;jepiyg; gzk; vd;wiof;fg;gLfpwJ. 

iii. M3 kw;Wk; M4 gzk; FWfpa gzk; vd;wiof;fg;gLfpwJ. 
a. i kw;Wk; ii  b. ii kw;Wk; iii  c. ii kl;Lk;  d. iii kl;Lk; 

 

89. Who published the book “The purchasing power of money” in 1911? 
a. Davanzatti  b. Irving Fisher  c. Milton Friedman d. J.M. Keynes 
1911 –Mk; Mz;L “gzj;jpd; thq;Fk; rf;jp” vd;w Gj;jfj;jpid ntspapl;ltu; ahu;? 
a. lhtd;rl;b  b. ,u;tpq;gp~u;   c. kpy;ld; gpnuLNkd; d. J.M. fPd;]; 

 

90. Choose the correct statements: 
i. Imperial Bank of India was established in 1921.  
ii. It was changed into State Bank of India in 1949. 
iii. Reserve Bank of India was established in 1935.  
a. i, ii, iii  b. i, ii   c. i, iii  d. ii, iii 
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rupahd $w;wpidj; Nju;e;njL. 

i. 1921-,y; ,e;jpa ,k;gPupay; tq;fp epWtg;gl;lJ. 

ii. ,J 1949-,y; ghuj];Nll; tq;fpahf khw;wg;gl;lJ. 
iii. ,e;jpa upru;t; tq;fp 1935-,y; Vw;gLj;jg;gl;lJ. 
a. i, ii, iii  b. i, ii   c. i, iii  d. ii, iii 

 
91. Match the following:  

A. FEMA Act      1. 1995 
B. Banking ombudsman Scheme   2. 2007 
C. Banking Regulation act    3. 1999 
D. Payment and settlement systems act  4. 1949  
 A B C D 
a. 1 2 4 3  
b. 3 2 4 1  
c. 3 1 4 2  
d. 1 3 4 2  
nghUj;Jf. 
A. FEMA rl;lk;    1. 1995 
B. tq;fp Fiwj;jPu;g;gha jpl;lk;  2. 2007 
C. tq;fp newpKiwr; rl;lk;   3. 1999 
D. nrYj;Jjy; kw;Wk; jPu;Tr; rl;lk;  4. 1949 
 A B C D 
a. 1 2 4 3  
b. 3 2 4 1  
c. 3 1 4 2  
d. 1 3 4 2  

 
92. Choose the correct statements about NABARD. 

i. Half of the share capital of NABARD is contributed by RBI and other Half contributed by 
Government of India. 

ii. It has the responsibility to inspect Primary Co-operative Societies. 
iii. It maintains a Research and Development Fund to promote research in agriculture and rural 

development. 
a. i and ii  b. i and iii  c. ii and iii  d. i, ii and iii 
eghu;L gw;wp rupahd $w;wpidj; Nju;e;njL. 

i. eghu;bd; %yjdk; ,e;jpa upru;t; tq;fp kw;Wk; ,e;jpa muR Mfpait rupgFjpahf toq;fpAs;sJ. 

ii. ,J Jtf;fNtshz;ik $l;LwT rq;fq;fis Ma;T nra;fpwJ. 
iii. Ntshz;ik kw;Wk; Cuf tsu;r;rpf;fhd Ma;T kw;Wk; tsu;r;rp epjpapid guhkupf;fpwJ. 
a. i kw;Wk; ii  b. i kw;Wk; iii  c. ii kw;Wk; iii  d. i, ii kw;Wk; iii 

 
93. Which of the following is/are incorrectly matched? 

Institution    Headquarters 
i. International Monetary Fund - Washington 
ii. World Trade Organization - Geneva 
iii. World Bank   - Newyork 
a. ii only  b. iii only  c. i and iii  d. none 
gpd;tUtdtw;Ws; jtwhfg; nghUe;jpaijj; Nju;e;njL. 
epWtdk;     jiyikafk; 

i. gd;dhl;L gzepjpak;  - th~pq;ld; 

ii. cyf tu;j;jf mikg;G - n[dpth 
iii. cyf tqfp   - epA+ahu;f; 
a. ii kl;Lk;  b. iii kl;Lk;  c. i kw;Wk; ii  d. VJkpy;iy 
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94. Consider the following statements. 
I. WTC featured the landmark Twin towers which were established on 4th April 1973. 
II. The Twin tower was destroyed on 11th September 2001 by the craft attack. 
a. I, II are correct b. I is correct  c. II is correct   d. I, II are incorrect 
gpd;tUk; $w;Wfis Muha;f. 

I. ,ul;il NfhGuq;fs; vd;W miof;fg;gl;l cyf tu;j;jf ikak; 4 Vg;uy; 1973y; epWtg;gl;lJ. 
II. nrg;lk;gu; 11> 2001 md;W ,ul;il NfhGuq;fs; tpkhdj; jhf;Fjyhy; mopf;fg;gl;lJ. 
a. I, II rup  b. I rup   c. II rup    d. I, II jtW 

 
95. Which the following statements about BRICS is/are correct? 

i. The term BRIC was coined in 2001. 
ii. Since 2007, the BRICS nations have met annually at Formal summits. 
iii. South Africa hosted the 10th BRICS summit in July 2018. 
a. i, ii   b. ii, iii  c. i, iii  d. i, ii, iii 
gpupf;]; mikg;G gw;wp rupahd $w;wpidj; Nju;e;njL. 

i. gpupf; vd;w thu;j;ij 2001-k; Mz;L gad;ghl;Lf;F te;jJ. 
ii. ,e;j ehLfs; 2007-ypUe;J Mz;L cr;rp khehLfis elj;jpa tUfpwJ. 

iii. [_iy 2018-y; gj;jhtJ cr;rp khehL njd;Mg;gpupf;fhtpy; eilngw;wJ. 
a. i, ii   b. ii, iii  c. i, iii  d. i, ii, iii 

 
96. Which of the following method is the easiest way of paying off the public debt? 

a. Budgetary surplus  b. Terminal Annuity 
c. Sinking Fund  d. Reduction in Rate of Interest 
gpd;tUtdtw;Ws; nghJf;flid nrYj;Jk; kpf Rygkhd Kiw? 
a. tuT    b. gFjpahfr; nrYj;Jjy; 
c. %o;Fk; epjp   d. tl;b tPjj;ij Fiwj;jy; 

 
97. Which is correct regarding Unbalanced Budget? 

a. Government’s estimated Revenue = Government’s proposed Expenditure 
b. Government’s estimated Revenue > Government’s estimated Expenditure 
c. Government’s estimated Revenue < Government’s proposed Expenditure 
d. Both b and c 
rkepiyaw;w gl;n[l; Fwpj;J rupahd $w;W? 

a. murpd; jpl;lkpl;l tUtha; = murpd; vjpu;Nehf;Fk; nryTfs;. 

b. muR vjpu;ghu;f;fpw tUtha; > jpl;lkplg;gl;Ls;s nryT 

c. muR vjpu;ghu;f;fpw tUtha; < jpl;lkplg;gl;Ls;s nryT 

d. b kw;Wk; c 
 
98. Choose the correct pair. 

i. Union List  - 100 subjects 
ii. State List  - 66 subjects 
iii. Concurrent List - 52 subjects 
a. i, ii, iii  b. i, ii   c. i, iii  d. ii, iii 
rupahd ,iziaj; Nju;e;njL. 

i. kj;jpag; gl;bay;  - 100 ,dq;fs; 

ii. khepyg; gl;bay; - 66 ,dq;fs; 
iii. nghJ gl;bay; - 52 ,dq;fs; 
a. i, ii, iii  b. i, ii   c. i, iii  d. ii, iii 
 

99. Which of the following statements about Finance Commission is/are correct? 
i. It is set up once in every 5 years. 
ii. Article 280(3) speaks about the functions of the finance commission. 
iii. It is a permanent body. 
a. i, ii   b. ii, iii  c. i, iii  d. i, ii, iii 
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gpd;tUk; $w;Wfspy; epjpf;FO gw;wp rupahdit? 

i. xt;nthU Ie;jhz;LfSf;Fk; xUKiw mikf;fg;gLfpwJ. 

ii. tpjp 280 (3) epjpf;FOtpd; gzpfisf; Fwpg;gpLfpd;wJ. 
iii. ,J xU epue;ju mikg;G. 
a. i, ii   b. ii, iii  c. i, iii  d. i, ii, iii 

 
100. Match the following 

Finance Commission  Chairman 
A. Twelfth   1. Vijay L. Kelkar 
B. Thirteenth   2.  C. Rangarajan 
C. Fourteenth   3. Y.V. Reddy 
D. Fifteenth   4. N.K. Singh 
 A B C D 
a. 2 1 3 4 
b. 1 2 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
nghUj;Jf. 
epjpf;FO   jiytu; 
A. gd;dpnuz;lhtJ  1. tp[a; L. Nfy;fu; 
B. gjp%d;whtJ  2. C. uq;fuh[d; 
C. gjpehd;fhtJ  3. Y.V. nul;b 
D. gjpide;jhtJ  4. N.K. rpq; 
 A B C D 
a. 2 1 3 4 
b. 1 2 3 4 
c. 1 2 4 3 
d. 2 1 4 3 

 
101. Which of the following is/are the fiscal instruments? 

i. Taxation ii. Public debt   iii. Public expenditure  iv. Deficit budget 
a. i, ii   b. ii, iii, iv  c. i, ii, iii  d. i, ii, iii, iv 
gpd;tUtdtw;Ws; epjpf;fUtpfs; vit? 
i. tuptpjpj;jy;  ii. nghJf;fld;  iii. nghJr; nryT iv. gw;whf;Fiw gl;n[l; 
a. i, ii   b. ii, iii, iv  c. i, ii, iii  d. i, ii, iii, iv 

 

102. Which was suggested the creation of a National Planning Commission and elaboration of mixed 
economic system? 
a. Sarvodaya Plan   b. Jawaharlal Nehru Plan 
c. Industrial policy of 1948  d. Indian National Congress 
gpd;tUtdtw;Ws; ikaj; jpl;lf;FO kw;Wk; fyg;Gg; nghUshjhu mikg;G Mfpatw;iw mikf;f 
gupe;Jiuj;jJ vJ? 
a. ru;Nthjah jpl;lk;   b. [t`u;yhy;NeU jpl;lk; 
c. njhopy; nfhs;if 1948  d. ,e;jpa Njrpa fhq;fpu]; 

 

103. Choose the correct statements. 
i. In 1938, the National planning commission was set up under the chairmanship of J.C. 

Kumarappa. 
ii. The sarvodaya plan was inspired by Gandhian plan. 
iii. Jawaharlal Nehru was the first chairman of planning commission. 
a. i, ii   b. ii, iii  c. i, iii  d. i, ii, iii 
rupahd $w;iwj; Nju;e;njL. 

i. 1938-y; J.C. Fkug;gh jiyikapy; Njrpa jpl;lf; fkpl;b mikf;fg;gl;lJ. 

ii. ru;Nthjah jpl;lk; fhe;jpaj; jpl;lj;jpd; cj;Ntfj;jhy; jahupf;fg;gl;lJ. 

iii. jpl;lf;FOtpd; Kjy; jiytu; [t`u;yhy; NeU. 
a. i, ii   b. ii, iii  c. i, iii  d. i, ii, iii 
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104. Article 6 of the convention on the rights of child deals with  
a. The child’s survival and development     
b. The child’s education    
c. The child’s health    
d. The child’s protection 
Foe;ijfs; chpikfs; khehl;bd; ~uj;J 6 vij gw;wpaJ? 
a. Foe;ijfspd; tho;thjhuk; kw;Wk; tsh;r;rp   
b. Foe;ijfspd; fy;tp   
c. Foe;ijfspd; Rfhjhuk;     
d. Foe;ijfspd; ghJfhg;G 

 
105. The Tamil Nadu Reservation Act, which provides for 69 percent reservation in the jobs and educational 

institutions in the state, was placed in the Ninth Schedule by  
a. 75th Amendment   b. 76th Amendment  
c. 77th Amendment   d. 78th Amendment 
fy;tpapYk;> Ntiy tha;g;gpYk; 69 rjtpfpj ,l xJf;fPL toq;fpl nfhz;L tug;gl;l jkpo;ehL  
,lxJf;fPL rl;lk;;.  9k; ml;ltizapy; Nrh;f;fg;gl;lJ. 
a. 75th Amendment   b. 76th Amendment  
c. 77th Amendment   d. 78th Amendment 

 
106. Match the following : 

A. Citizens by domicile   1. Art.7 
B. Citizens by migration  2. Art.8 
C. Citizens by registration  3. Art.6 
D. Termination of citizenship  4. Art.5 
 A B C D 
a. 1 2 3 4   
b. 4 3 2 1   
c. 3 4 2 1   
d. 2 3 4 1 
nghUj;Jf 
A. tho;tfk; %yk; Fbkfd;  1. ~uj;J 7 
B. Fbg;ngah;r;rp Fbkfd;  2. ~uj;J 8 
C. gjptpd; %yk; Fbkfd;  3. ~uj;J 6 
D. FbAhpik uj;J   4. ~uj;J 5 
 A B C D 
a. 1 2 3 4   
b. 4 3 2 1   
c. 3 4 2 1   
d. 2 3 4 1 

 
107. Which one of the following cases is not directly related to Article 21 and provision of right to life in the 

Indian Constitution? 
a. A.K.Gopalan Vs. State of Madras  
b. Menaka Gandhi Vs. Union of India 
c. Express News papers Vs. Union of India 
d. Pavement Dwellers Case 
fPo;fz;l ve;j xU tof;F> ,e;jpa murpayikg;G tpjp 21 kw;Wk; tho;tjw;fhd chpikNahL Neubahfj; 
njhlh;gpy;yhjJ? 
a. V.Nf.Nfhghyd; vjh; kjuh]; khfhzk; 
b. Nkdfh fhe;jp vjph; ,e;jpa xd;wpak; 
c. vf;];gpu]; nra;jpjhs;fs; vjph; ,e;jpa xd;wpak; 
d. eilghij tho;Nthh; tof;F 
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108. The Vice President, who resigned from his office, for assuming the President office was 

a. V.V.Giri    b. Fakruddin Ali Ahmed  
c. Neelam Sanjiva Reddy   d. S. Radhakrishnan 
FbauR jiyth; mYtyfj;ij Vw;Wf; nfhs;tjw;fhf jk;Kila Jizf; FbauR jiyth; gjtpia 
,uh[pdhkh nra;jth; 

a. tp.tp. fphp    b. gf;&jpd; myp mfkJ  
c. ePyk; rQ;rPt nul;b    d. v];. ,uhjhfpU~;zd; 

 
109. The conditions of service of members of All India Services are determined by  

a. President of India   b. Constitution of India  c. Parliament of India  d. UPSC 
mfpy ,e;jpa gzpahsh;fspd; epiyia jPh;khdpg;gJ 
a. [dhjpgjp   b. ,e;jpa murpayikg;Gr; rl;lk; c. ,e;jpag; ghuhSkd;wk;  d. UPSC 

 
110. Who formulated the people’s plan?  

a. Jawaharlal Nehru   b. Sriman Narayan  c. M.K. Gandhi  d. M.N. Roy  
kf;fs; jpl;lj;jpid cUthf;fpath; ahh;?   
a. [tfh;yhy; NeU  b. =kd; ehuhaz; c. vk;.Nf. fhe;jp  d. vk;.vd;. uha;  

 
111. Choose the correct answer: 

Which is declared by Government generally at the time of harvest of crops? 
a. Minimum support prices  b. Procurement prices   
c. Issue prices    d. Retail prices 
rhpahd tpilia Njh;e;njLf;fTk;: 
gaph; mWtil fhyj;jpy; muR mwptpf;Fk; tpiy 
a. Fiwe;j MjuT tpiy  b. nfhs;Kjy; tpiy   
c. toq;fy; tpiy   d. rpy;yiu tpiy 

 
112. Second Green Revolution strategy was adopted during the 

a. 11th five year plan   b. 12th five year plan 
c. 10th five year plan   d. 9th five year plan 
,uz;lhtJ gRikg;Gul;rp jpl;lkplg;gl;lJ 
a. 11tJ Ie;jhz;L jpl;l fhyj;jpy; b. 12tJ Ie;jhz;L jpl;l fhyj;jpy;  
c. 10tJ Ie;jhz;L jpl;l fhyj;jpy;  d. 9tJ Ie;jhz;L jpl;l fhyj;jpy;  

 
113. Match the following  

A. Hazari Report   1. To inquire the working of licensing system   
     in India 
B. Subimal committee   2. Reviewed the working of Industrial licensing   
     under Industries (D and R) Act 1951 
C. Rangarajan committee 1993 3. Problems of untimely and inadequate credit   
     availabilities to SSIs  
D. Nayek Committee 1991  4. Disinvestment of shares in PSEs 
 A B C D 
a. 4 2 3 1   
b. 1 3 2 4  
c. 2 1 3 4  
d. 2 1 4 3  
mbapw;fz;ltw;iwg; nghUj;Jf 
A. `rhhp mwpf;if  1. ,e;jpahtpy; chpkk; Kiwapid Ma;T nra;jy; 
B. fgpky; FO   2. njhopy; (R & D) rl;lk; 1951 d; gbnjhopy;    
    chpk nray;ghl;bid kjpg;gpLjy;    
C. uq;fuh[d; FO 1993 3. rpWnjhopy;fSf;F fhyk; jtwpa> gw;whf;Fiwahd 
        fld;fshy; Vw;gLk; gpur;rpidfs;    
D. ehaf; FO 1991  4. nghJj; Jiw epWtdq;fspd; gq;F tpw;gid 
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 A B C D 
a. 4 2 3 1   
b. 1 3 2 4  
c. 2 1 3 4  
d. 2 1 4 3 

 
114. Gini coefficient is used to estimate 

a. National Income    b. Inequality in income distribution  
c. Unemployment    d. Regional unbalance 
fpdp nfOthdJ vij fzf;fpl gad;gLfpwJ 
a. Njrpa tUkhdj;ij kjpg;gPL nra;tjw;F gad;gLfpwJ    
b. tUkhd gfph;tpy; Vw;wj;jho;it kjpg;gPL nra;a gad;gLfpwJ    
c. Ntiyapy;yh epiyia kjpg;gPL nra;a gad;gLfpwJ    
d. tl;lhu Vw;wj;jho;it kjpg;gPL nra;a gad;gLfpwJ 

  
115. Which of the following is not a method of calculating National Income? 

a. Income method  b. Saving method c. Expenditure method d. Product method  
ehl;L tUkhdj;ij fzf;fpLk; KiwfSs; xd;whf gpd;tUtdtw;Ws; ve;j xd;W ,y;iy? 
a. tUkhd Kiw b. Nrkpg;G Kiw  c. nryT Kiw d. cw;gj;jp Kiw 

 
116. Which one of the following is State Nodal Agency? 

a. TN-GIS  b. TNPSC  c. TNeGA  d. Arasu Cable Corporation 
gpd;tUtdtw;Ws; vJ khepy xUq;fpizg;G KfikahFk;? 
a. TN-GIS  b. TNPSC  c. TNeGA  d. muR Nfgps; fhh;g;gNurd; 

 
117. Kalvi Tholaikatchi was founded in the year ______ 

a. 2017  b. 2014  c. 2019  d. 2018 
fy;tp njhiyf;fhl;rp Njhw;Wtpf;fg;gl;l Mz;L _________ 
a. 2017  b. 2014  c. 2019  d. 2018 

 
118. Which one of the following is not the wing of the Cabinet Secretariat? 

a. Civil  b. Military  c. Intelligence  d. Economic 
gpd;tUtdtw;Ws; vJ mikr;ruit nrayf gphpTfspy; xd;wy;y? 
a. Fbik b. ,uhZtk;  c. Ez;zwpT  d. nghUshjhuk; 

 
119. Consider the following  

Assertion (A): Kamarajar advocated the concept of Dakhina Pradesh  
Reason (R): Dakshina Pradesh means the amalgamation of Tamilnadu and Kerala 
a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUk; $w;Wfis Ma;f 
$w;W (A): jl;rpz gpuNjr nfhs;ifia fhkuh[h; Mjhpj;jhh; 
fhuzk; (R): jl;rpz gpuNjrk; vd;gJ jkpo;ehL kw;Wk; Nfushit cs;slf;fpajhFk; 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 

 
120. A State promoted standardisation of culture that interconnects the states, based on the supposition of 

establishing an ideal unified community is called 
a. Cultural Homogeneity b. Cultural Harmony 
c. Cultural Heterogeneity  d. Social Harmony 
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xUKf jd;ik tha;e;j rKjhak; jq;fSila gof;ftof;fq;fspy; xd;Wf;nfhd;W njhlh;gpy; mike;J 
mjid murpd; %yk; epiyg;Gj;jd;ik Vw;gLj;JtJ. fyhr;rhuj; Jiwapy; NtWghLfs; ePq;fpajhf 
,Uf;Fk; epiy _________ vdg;gLfpwJ 
a. gz;ghL Xhpdk;  b. gz;ghl;L ,irT c. gz;ghL gd;Kfj;jd;ik d. r%f ,irT 
 

121. Who gave the concept of Welfare State? 
a. Rousseau   b. Voltaire  c. Bismarck  d. Karl Marx 
‘ey muR’ vd;w fUj;jhf;fj;ij toq;fpath; ahh;? 
a. &Nrh   b. thy;ilh;  c. gp];khh;f;  d. fhh;y; khh;f;]; 
 

122. Who wrote “The caste feeling, thus divided the Dravidian race and Dravidians became slaves for 
Aryans”? 
a. C.N. Annadurai  b. E.V. Periyar   c. Singaravelar  d. Maraimalai Adigal 
“rhjpa czh;T> jpuhtpl ,dj;ij gphpj;J jpuhtplh;fis Mhpah;fsplk; mbikahf;fpaJ” vd;W $wpath; 
ahh;? 
a. rp.vd;. mz;zhJiu b. <.nt. nghpahh; c. rpq;fhuNtyh;  d. kiwkiy mbfs; 

 
123. Choose the correct statements 

1. Tamilnadu is the second largest economy in India 
2. It contributes 11% to India’s industrial output 
3. 16% in India’s Industrial Work force 
4. It contributes 28% to India’s renewable energy capacity higher than any other state 
a. 1, 2, 3   b. 1, 3, 4  c. 2, 3   d. all of these 
rhpahd $w;Wfis fz;lwpf 
1. jkpo;ehL ,e;jpahtpd; ,uz;lhtJ nghpa nghUshjhuj;ij nfhz;Ls;sJ 
2. ,e;jpahtpd; njhopw;rhiy cw;gj;jpapy; 11 rjtPjj;ij jkpo;ehL nfhz;Ls;sJ 
3. ,e;jpahtpd; njhopyhsh;fs; vz;zpf;ifapy; 16 rjtPjj;ij jkpo;ehL nfhz;Ls;sJ 
4. ,e;jpahtpd; GJg;gpf;fj;jf;f Mw;wy; tsq;fspy; Ntnwe;j khepyj;jpYk; ,y;yhj mstpw;F 28 

rjtPjj;ij jkpo;ehL nfhz;ls;sJ.  
a. 1, 2, 3   b. 1, 3, 4  c. 2, 3   d. ,it midj;Jk; 

 
124. The system of herediatary village officers such as “Karnam” was abolished by 

a. M.G.R.  b. J. Jayalalitha c. Kalaignar  d. Rajaji 
thhpR mbg;gilapy; fpuhk eph;thf mYtyuhd “fh;zk;” gjtpf;F KbT fl;bath; ahh;? 
a. vk;.[p.Mh;  b. n[. n[ayypjh c. fiyQh;  d. uh[h[p 
 

125. Intermediate port in Tamil Nadu is located at  
a. Ennore b. Rameshwaram  c. Nagapattinam d. Cuddalore 
jkpo;ehl;by; ,ilepiy JiwKfk; vq;F mike;Js;sJ. 
a. vz;Z}h; b. ,uhNk];tuk;  c. ehfg;gl;bdk;  d. $lY}h; 

 

126. Find the GCD of (x2y + xy2), (x2 + xy)  
a. x (x2 + y)  b. x2y + y2x  c. x2 + y d. x (x+y)  
(x2y + xy2), (x2 + xy) d; kP.ngh.t 
a. x (x2 + y)  b. x2y + y2x  c. x2 + y d. x (x+y)  
 

127. Find the sum and the product of the roots of the following quadratic equation. 2
1013

a a
+ =  

gpd;tUk; ,Ugb rkd;ghl;bd; %yq;fspd; $Ljy; kw;Wk; %yq;fspd; ngUf;fy;gyd; fhz;f. 

2
1013

a a
+ =  

a. 101 ,
3 3

  b. 101 ,
3 3

−   c. 10 1,
3 3
−   d. 101 ,

3 3
−−  

   
128. If (5, 7) (3, p) (6, 6) are collinear, then the value of p is  

a. 3   b. 6  c. 9   d. 12  
(5, 7) (3, p) (6, 6) ,itfs; xNu Neh;Nfhl;by; mike;jhy; pd; kjpg;G  
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a. 3   b. 6  c. 9   d. 12  
129. If one litre of paint covers 10 m2, how many litres of paint is required to paint the internal and external 

surface areas of a cylindrical tunnel whose thickness is 2 m, internal radius is 6 m and height is 25 m.  
a. 220   b. 440  c. 110   d. 330  
jbkd; 2 kP> cl;Gw Muk; 6 kP kw;Wk; cauk; 25 kP cila Xh; cUis tbtf; Ruq;fg;ghijapd; cs; 
kw;Wk; ntspg;Gwg; gug;GfSf;F th;zk; G+rg;gLfpwJ. xU ypl;lh; th;zj;ijf; nfhz;L 10 r.kP G+r 
KbAkhdhy;> Ruq;fg;ghijf;F th;zk; G+r vj;jid ypl;lh; th;zk; Njit?  
a. 220   b. 440  c. 110   d. 330  
 

130. The ratio of the volumes of two cones is 2 : 3. Find the ratio of their radii if the height of second cone is 
double the height of the first?  

a. 3 : 2   b. 2 :3   c. 2 : 3   d. 2 : 3  
,U $k;Gfspd; fd msTfs; tpfpjk; KiwNa 2 : 3 Kjy; $k;gpd; cauj;ijg; Nghy ,uz;lhtJ 
$k;gpd; cauk; ,U klq;fhFk; vdpy;> ,U $k;Gfspd; Muq;fspd; tpfpjk;.  

a. 3 : 2   b. 2 :3   c. 2 : 3   d. 2 : 3  

 
131. A metalic sheet in the form of a sector of a circle radius 21 cm has central angle of 216°. The sector is 

made into a cone by bringing the bounding radii together. find the volume of the cone formed. 
(approximately) 
a. 2696.18 cm3  b. 2484.18 cm3  c. 2794.18 cm3  d. 2324.18 cm3 
xU tl;lNfhz tbtpYs;s cs;s cNyhfj;jfl;bd; Muk; 21 nr.kP kw;Wk; ikaf;Nfhzk; 216° MFk;. 
tl;lNfhz gFjpapd; Muq;fis ,izj;J cUthf;fg;gLk; $k;gpd; fd msT? (Njhuhakhf)  
a. 2696.18 cm3  b. 2484.18 cm3  c. 2794.18 cm3  d. 2324.18 cm3 
 

132. Find the sum of all natural numbers between 300 and 500 which are divisible by 11.  
a. 7117  b. 7887  c. 7227  d. 7667  
300f;Fk; 500-f;Fk; ,ilNa 11 My; tFgLk; midj;J ,ay; vz;fspd; $Ljy; fhz;f.  
a. 7117  b. 7887  c. 7227  d. 7667  
 

133. A geometric series consists of even number of terms has a positive common ratio. The sum of all terms 
is 3 times the sum of odd terms. then, the common ratio?  
a. 3   b. 4   c. 2   d. 1  
xU ngUf;Fj; njhlh; thpirapy; midj;Jk; ,ul;ilg;gil njhluhf cs;sd. ngUf;F tpfpjk; xU 
kpif vz;. midj;J cWg;Gfspd; $Ljy; mjpy; cs;s xw;iw cWg;Gfspd; $Ljypd; 3 klq;fpw;Fr; 
rkk; vdpy; mjd; ngUf;F tpfpjk; vd;d?  
a. 3   b. 4   c. 2   d. 1  

 
134. A metalic cube with side 15 cm is melted and formed into a cuboid. If the length and height of the 

cuboid is 25 cm and 9 cm respectively then find the breadth of the cuboid. 
a. 30 cm  b. 15 cm   c. 7.5 cm  d. 45 cm  
15 nr.kP gf;f msTs;s xU fdrJu tbtpyhd cNyhfj;ij cUf;fp fdr; nrt;tfkhf khw;Wk; NghJ 
mjd; ePsk; kw;Wk; cauk; 25 nr.kP kw;Wk; 9 nr.kP vdpy; mjd; mfyk; vd;d?  
a. 30 nr.kP  b. 15 nr.kP  c. 7.5 nr.kP  d. 45 nr.kP  
 

135. The average mark of 25 students was found to be 78.4 later on, it was found that score 96 was misread, 
as 69, find the correct mean.  

 a. 78.32   b. 77.32  c. 79.48  d. 78.28 
 25 khzth;fspd; ruhrhp 78.4. gpd;G> 96 vd;w kjpg;ngz; 69 vd jtWjyhf  vLf;fg;gl;lJ vd 

njhpate;jJ vdpy; rhpahd kjpg;ngz; %yk; fpilf;Fk;  rhpahd ruhrhp vd;d?  
 a. 78.32   b. 77.32  c. 79.48  d. 78.28 
  

136. If x =  3 1+ , find 

2
2

x
x

 
− 

 
 

a. 2 3   b. 12 6 3−   c. 2   d. 4 
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x =  3 1+  vdpy; 

2
2

x
x

 
− 

 
 I fhz;.  

a. 2 3   b. 12 6 3−   c. 2   d. 4 

 
137. If x – y = -6; xy = 4, find the value of x3 – y3 

a. 240   b. 288  c. 252  d. none of these  
x – y = -6 kw;Wk; xy d; kjpg;G 4 vdpy; x3 – y3 d; kjpg;G  
a. 240   b. 288  c. 252  d. ,tw;Ws; vJTkpy;iy  
 

138. Find the least number which must be added to 6412 to make it a perfect square.  
a. 312   b. 12   b. 149  d. 175  
ve;jnthU kpfr;rpwpa vz;iz 6412 cld; $l;Lk; NghJ mJ KO th;f;fkhFk;?  
a. 312   b. 12   b. 149   d. 175  
 

139. Murali gives half of his property to his wife, two third of the remainder to his son and the remaining 
Rs. 50000 to his daughter. find the share of his son.  
a. 1,25,000  b. 1,50,000  c. 1,00,000  d. 50,000  
Kusp vd;gth; mtUila nrhj;jpy; miu gFjpia kidtpf;F nfhLf;fpwhh;. kPjKs;stw;wpy; %d;wpy; 
,uz;L gFjpia mtUila kfDf;F jUfpwhh;. gpd;G> kPjKs;s & 50000 I mtUila kfSf;F 
jUfpwhh;. vdpy; mtUila kfDf;F vt;tsT njhif fpilj;J ,Uf;Fk;?  
a. 1,25,000  b. 1,50,000  c. 1,00,000  d. 50,000  
 

140. Find the difference between simple interest and compound interest on Rs. 6400 for 2 years at 16 %
4

 

p.a compound annually.  
a. Rs. 20   b. 25 Rs  c. 22 Rs  d. 16 Rs 

& 6400 vd;w mrYf;F 16 %
4  

vd;w tl;btPjj;jpy; ,U tUlq;fspy; fpilf;Fk; jdptl;bf;Fk; $l;L 

tl;bf;Fk; cs;s tpj;jpahrk; fhz;f.  
a. & 20  b. & 25  c. & 22  d. & 16  
 

141. A tap A can fill a drum in 10 minutes. A second tap B can fill in 20 minutes. A third pipe C can empty 
in 15 minutes. If initially, the drum is empty find when it will be full if all tapes are opened to gether?  
a. 9 minutes   b. 24 minutes   c. 18 minutes   d. 12 minutes  
A vd;w Foha; MdJ xU buk;ik 10 epkplj;jpy; epug;Gk;> B vd;w Foha; 20 epkplj;jpy; epug;Gk;> %d;whtJ 
Foha; C MdJ 15 epkplj;jpy; fhyp nra;Ak; vdpy; %d;W Foha;fSk; Nrh;e;J vt;tsT Neuj;jpy; 
buk;ik epug;Gk;?  
a. 9 minutes   b. 24 minutes   c. 18 minutes   d. 12 minutes  
 

142. A shop keeper gives two successive discounts on an article whose marked price is Rs. 180 and selling 
price is Rs. 108. Find the first discount percentage, if the second discount is 25%.  
a. 25%   b. 15%  c. 20%   d. 30%  
xU filf;fhuh; xU nghUSf;F ,U njhlh; js;Sgbfs; mspf;fpwhh;. mjdpd; Fwpj;j tpiy & 180 
mjid tpw;wtpiy & 108 vdpy; Kjypy; nfhLj;j js;Sgb vt;tsT? ,uz;lhk; js;Sgb 25% MFk;.  
a. 25%   b. 15%  c. 20%   d. 30%  

 
143. The ratio of boys and girls in a class is 5 : 3. If 16% boys and 8% of girls failed in an examination, then 

find the percentage of passed students.  
a. 83%   b. 87%   c. 92%  d. 89.2%  
xU tFg;gpy; cs;s khzt khztpfspd; tpfpjk; 5 : 3. ,jpy; 16% khzth;fSk;> 8% khztpfSk; 
Njh;tpy; Njhy;tp mile;jth;fs;  vdpy; Njh;r;rp mile;j nkhj;j khzth;fspd; rjtpfpjk; vd;d?  
a. 83%   b. 87%   c. 92%  d. 89.2%  
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144. The population of a town is increasing at the rate of 6% p.a. If was 238765 in the year 2018. find the 
population in the year 2016.  
a. 214500  b. 215100  c. 212500  d. 212500  
xU efuj;jpy; kf;fs; njhifahdJ tUlj;jpw;F 6% vd;w tPjj;jpy; mjpfhpf;fpwJ. 2018 Mk; Mz;L 
238765 ,Ue;jJ vdpy; 2016 Mk; Mz;L ,Ue;j kf;fs; njhif vt;tsT?  
a. 214500  b. 215100  c. 212500  d. 212500  
 

145. At present, Thenmozhi's age is 5 years more than that of murali age. Five years ago, the ratio of 
Thenmozhi's age to Murali age was 3 : 2. Find the present age of Murali.  
a. 12    b. 14   c. 15   d. 10  
jw;NghJ> Njd;nkhop vd;gth; Kuspapd; taij tpl 5 taJ nghpath;. 5 tUlq;fSf;F Kd;G> Njd;nkhop 
kw;Wk; Kuspapd; taJ tpfpjq;fs; KiwNa 3 : 2 vdpy; Kuspapd; jw;Nghija taJ vd;d?  
a. 12    b. 14   c. 15   d. 10  
 

146. Two gates are fitted at the entrance of a library. To open the gates easily, a wheel is fixed at 6 feet 
distance from the wall to which the gate is fixed. If one of the gates is opened to 90°. Find the distance 
moved by the wheel ( = 3.14)  
a. 4.71 ft  b. 14.13 ft  c. 9.42 ft  d. 18.84 ft  
xU E}yfj;jpd; Eiothapypy; ,uz;L fjTfs; nghUj;jg;gl;Ls;sd. fjtpid vspjpy; jpwg;gjw;fhf> 
mJ nghUj;jg;gl;Ls;s Rtw;wpypUe;J 6 mb J}uj;jpy; fjtpd; mbg;gFjpapy; xU rf;fuk; 
nghUj;jg;gl;Ls;sJ. xU fjtpid 90° mstpw;Fj; jpwf;Fk;nghOJ rf;fuk; vt;tsT J}uj;ijf; flf;Fk;. 
( = 3.14) 
a. 4.71 ft  b. 14.13 ft  c. 9.42 ft  d. 18.84 ft  
 

147. If 3x – 4y = 10 and xy = -1 then the value of 9x2 + 16y2 
a. 124   b. 76   c. 62   d. 64 
3x – 4y = 10  kw;Wk; xy = -1  vdpy;> 9x2 + 16y2 d; kjpg;G  
a. 124   b. 76   c. 62   d. 64 
 

148. Select the term that will come next in the following series MJC, OLE, QNG, SPI?  
a. URK  b. TSJ  c. VSK  d. TRJ  
gpd;tUk; njhlhpy; mLj;J tUtJ MJC, OLE, QNG, SPI?  
a. URK b. TSJ  c. VSK  d. TRJ  
 

149. If @ stands for subtraction, β stands for Multiplication, ≤ stands for addition and μ stands for division 
than what is the value of  
88  ≤ 9β 132 μ 12@ 66  
a. 22   b. 77   c. 11   d. 121  
@ vd;gJ fopj;jiyAk; β  vd;gJ ngUf;fiyAk; ≤  vd;gJ $l;liyAk;> μ vd;gJ tFj;jiyAk; 
Fwpj;jhy; 88  ≤ 9β 132 μ 12@ 66 d; kjpg;G. 
a. 22   b. 77   c. 11   d. 121  

150. a2 + b2 = 234; ab = 108 then find the value of 
a b

a b

+

−
 

a. 10   b. 8   c. 5   d. 4 

a2 + b2 = 234  ab = 108 vdpy; 
a b

a b

+

−
 d; kjpg;G  

a. 10   b. 8   c. 5   d. 4 
 
 
 
 
 
 


